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∂u

∂t
(x, t) = k

∂2u

∂x2
(x, t), (x, t) ∈ (0, 1) × (0,∞)

∂u

∂x
(0, t) =

∂u

∂x
(1, t) = 0, t ∈ (0,∞)

u(x, 0) = u0(x), x ∈ [0, 1]
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��� 
�
� �	�

z(t) = eAtz0' 
	�
� eAt = I + tA +
t2

2
A2 +

t3

3!
A3 + · · · & /� �	�!������
� 
� ���� ���
� ��


� �� �� �	�	�	�$� ��
"	��� 
� L(Z)&

/� ���� 
� �� �������
��  �� ����

� �� �%
�����
�' ��
�

�
' �������

�
' ���& 
� ���

�	���
	��� 
�� ��	����� 
� �����- @1&1B �� �����
	� 
� 3����� �� �	�	�� �	�	 ��	�$�


� *��
����	�&

��� ���� ����	 ����������� !�������	

*��	����	�  �� ���� �� 	����
	� 
�
	 A' z(t) �� ��� �	���
#� 
� @1&1B �	� !��	� 
�
�
��

z0& ���	����' �	�	 �� ��	����� �� ���#�	�	 @���� �����	� ���	�
��
	  �� �� 	����
	�

A �� 
�
����

���� 
� tB' �� 
��� �����
�  �� z(t) = T (t)z0' 
	�
� T (t) �� �
���	 	����
	�

�
����' �� 
��
�' �� !��	� 
� �� �	���
#� �� t �#�	 
����
� 
� �� �	�

�
#� 
�
�
�� - �	 ����

�� "	��� �
����& �
����' �� ����
	 z(t + s) �����(�
	 �� �
���	 t + s � ����
� 
� z0

�� �� �
��	  �� �� ����
	 �����(�
	 �� �
���	 s ����
��
	 
�� ����
	 
�
�
�� z(t)' ��



�7$ ��!�1��&�# ������!���� 
�������# *


��
� T (t + s)z0 = z(t + s) = T (s)z(t) = T (s)T (t)z0& ����  �� �� ��	����� ��� �����


�������� @H��� �	��
B �� �� ����

	 
�  �� �� �	���
#� 
����
� �	��
�������� 
� ��

�	�

�
#� 
�
�
��' ��

���	� � T (t)  �� ��� �� 	����
	� ��	��
	 �� Z&

���� 

�����
#� �	��� �� "	��� 
� ��� �	���
	��� 
�� ��	����� @1&1B �	� �	�
��� ��

�	�����	 
� C02*��
����	 	 *��
����	 ����������� �	��
��	&

��'������ �7� !� ���
����	 "���������� �	��
��	 �	��� �� �����
	 
� 3����� Z �

��

��
���� �� C02���
����	 �	��� Z �� ��� "�
���� {T (t)}t≥0 �� �
�������� �������� �

�������� ����� Z ��� �����"��� ��� ���������� 
��
�������#

@
B T (t + s) = T (t)T (s)$ 
��� t, s ≥ 0%

@

B T (0) = I%

@


B ‖T (t)z0 − z0‖ → 0$ ������ t → 0+$ 
��� ���� z0 ∈ Z&

�	���	�  �� �
 A ∈ L(Z)' T (t) = eAt �� �� C02���
����	&

��	�
�
	 � �	
	 C02���
����	 �%
��� �	  �� ������	� �� ��������� ���������
��&

��'������ �7$ '� ������
	� 
�)�
���
��� �� �� C0���
����
� T (t) ����� Z �� �� �
��

����� ������ ������� 
��

D(A) =

{
z ∈ Z : �(���� lim

t→0+

T (t)z − z

t

}

� 
��� z ∈ D(A)$ Az = lim
t→0+

T (t)z − z

t
&

/� ��-	�$� 
� �	� �������
	� 
� � �$ �� )��� 
�� �������� ���$���	 ���
�� ���	�������

�� F74G& /	� ��#%
�	� ���� ��	����� �����
�� ��� ��	�
�
�
�� ���
��� 
� �	� C02���
����	�

- ��� ������
	��� 
�)�
���
�����&


����!" �7* ���� T (t) � S(t) C0���
����
�� �� �
�������� �������� �������� ����� ��

��
���� �� )����� Z ��� ����������� ���������
���� A � B$ ���
������
����& �� A = B$

�������� T (t) = S(t) 
��� ���� t ≥ 0&



- ������������ � ��� �!��"��#


����!" �7- ��� T (t) �� C0���
����
� ����� �� ��
���� �� )����� Z ��� ���������

���������
�� A& '�������#

@�B '(����� ���������� ω ≥ 0 � M ≥ 1 ����� ���

‖T (t)‖ ≤ Meωt 
��� 0 ≤ t < ∞.

@�B ���� ���� z ∈ Z � t ≥ 0$ �� ����� ���

lim
h→0

t+h≥0

1

h

∫ t+h

t

T (s)z ds = T (t)z.

@�B �� z ∈ Z � t ≥ 0$ ��������

∫ t

0

T (s)z ds ∈ D(A) � ���
��

A

(∫ t

0

T (s)z ds

)
= T (t)z − z.

@
B �� z ∈ D(A) �� ����� ��� T (t)z ∈ D(A) 
��� ���� t ≥ 0 �

AT (t)z =
d

dt
T (t)z = T (t)Az.

@�B ���� ���� z ∈ D(A) � s, t ≥ 0$

T (t)z − T (s)z =

∫ t

s

T (τ)Az dτ =

∫ t

s

AT (τ)z dτ.


����!" �7) �� A �� �� ��������� ���������
�� �� �� C0���
����
� ����� �� ��
����

�� )����� Z$ �������� A �� �� �
������ ������� �
∞⋂

n=1

D(An) �� �� �����
���� ����� ��

Z&

�,#��."����8 �	���	�  �� �� �� �����
�
	 
�� ��	���� 1&7 ���	� ����
�	 
��������� 
�

"���
	��� �	� !��	��� �� �� �����
	 
� 3�����& ����� 
��������� �� 
��	�
��� 
���������


� 3	����� - �	 �	� ���  �� ��� �������
(��
#� 
� �� 
������� 
� /������� ���� "���
	���

�	� !��	��� �� �����
	� 
� 3�����& 3��!������' �
 (Ω,P, μ) �� �� �����
	 
� ��


� - Z

�� �����
	 
� 3�����' ���	���� �� 
�)��� ��� "���
	��� �
����� - �� 
������� 
� 3	�����


� "���
	��� �
����� 
�� �
��
���� �	
	 @!�� F41' ���$���	 9GB0



�7$ ��!�1��&�# ������!���� 
�������# )

��'������ �70 ��� (Ω,P, μ) �� ��
���� �� 
����� ���
������� � ��� Z �� ��
���� ��

)�����$ ��������#

9": !�� "����	� u : Ω → Z �� �
���� �� �(����� ���������� ������� ui ∈ Z � ���*�����


������� ���*����� Ei$ i = 1, 2, . . . , n ��� μ(Ei) < ∞ ����� ���

u(ω) =
n∑

i=1

ui χEi
(ω).

+���� χEi
�� �� "����	� ��������,����� �� Ei#

χEi
(ω) =

{
1 �� ω ∈ Ei

0 �� ω /∈ Ei.

9,: -� 
������� 
� 3	����� �� ��� "����	� ��

�� u : Ω → Z ����� �� ���*���� E ∈ P
�� ����� 
�� ∫

E

u dμ =
n∑

i=1

ui μ(E ∩ Ei).

/���	 �� 
�)��� ��� "���
	��� "�����
���� 
������� - ��� 
��������� 
� ����� 
�� �
2

��
���� �	
	0

��'������ �74 ��� (Ω,P, μ) �� ��
���� �� 
����� ���
������� � ��� Z �� ��
���� ��

)�����$ ��������#

9": !�� "����	� u : Ω → Z �� ��� "����	� "���������� ��

��� �� �(���� ��� ������	�

{un} �� "�������� ��

��� ����� ��� ‖un(ω)−u(ω)‖ → 0 
��� ���� ���� ω ∈ Ω ������

n → ∞&

9,: -� 
������� 
� 3	����� �� ��� "����	� "�����
���� 
������ u : Ω → Z �� �� �,
���

.�� �(����/ �� ��� ���������� �� )������ �� ��� "�������� ��

��� un ��� �
��(�
�� �

u& '� ����� ∫
E

u dμ = lim
n→∞

∫
E

un dμ.



0 ������������ � ��� �!��"��#

���
� �	�������  �� �� 
������� ���� �
�� 
�)�

� -  �� �� 
�
����

���� 
� �� �����
#�

���	%
����� {un} ����

�' -  �� �
 u �� "���������� ��

���' ���	���� u �� 
���������

3	����� �
 - �#�	 �
 ‖u(·)‖ �� 
��������� �	�	 "���
#� � !��	��� ������&

/	� �������
	� 
� �
����

�
 �	�	�

	� ���� �� 
������� 
� /������� ���������� !��

	�

���� �� 
������� 
� 3	�����& ����
�� �	
��	� 
�)�
� �� �����
	 Lp(Ω : Z) �	�	 ��

�	�.���	 
� "���
	��� 
� Ω �� Z "���������� ��

����  �� ���
�"����
∫
Ω
‖u‖p dμ < ∞'

 �� 
	��
	 
� �� �	��� ‖u‖Lp
.
=
(∫

Ω
‖u‖p dμ

)1/p
�� �� �����
	 
� 3�����&

�	 �%
��� ���� ��� 
��������� 
� 3	����� �� �������
	 �	�	 �� 0����
� �� �� �������

������ 1��	���� 
�
	  �� �	 �
����� ���
� 
�)�
��� �� 	�
�� �� �� �����
	 
� 3�����&

��� �� �$ �%
��� �� �������
	 �
�
��� �� 0����
� �� �� ������������ +�
����� - 

��

��$0


����!" �73 9;$�<: �� {un} �� ��� ������	� �� "�������� ����������� )������ �����

��� ‖un(ω)‖ ≤ g(ω) 
��� ���� n ∈ N$ ����� g �� ��� "����	� � ������� ������ ����������

�� E ∈ P$ � un(ω) → u(ω) 
��� ���� ���� ω ∈ Ω$ �������� u �� ���������� )������ �

∫
E

u dμ = lim
n→∞

∫
E

un dμ.

�� !
���
 
� �	� ��	����� 1&7 - 1&8 ������� ����	  �� �
 A �� �� ������
	� 
�)�
���
���


� �� C02���
����	 T (t) - z0 ∈ D(A)' ���	���� �� ��	����� @1&1B �
��� �	���
#� +�
��

- ���� !
��� 
�
� �	� z(t) = T (t)z0& �� �� �
��
���� ����
#� !����	� �#�	 �	
��	�


�����
��� �
 �� 	����
	� A �� �� ������
	� 
�)�
���
��� 
� �� C02���
����	&

��" !��������#���
� 
� $�����
���	 ��%����	�����	 
�

C0&	��� ����	

��
	 �� 	����
	� �����
	 A �	� 
	�
�
	 
���	 �� �� �����
	 
� 3����� Z @�	�

�
	���

�������
�� ����  �� ������ �� C02���
����	B' �	� ���������	�0 I �� �	�

�
	��� #�'=

������# ��-  �� 
���
 ���  �� A ������ �� C02���
����	J /� ��
���� ��������� � ����


�����	����� ���� ���
����	� �	������
!	� �� 
� �� ��	���� 
� D
����K	�

�&



�7* 
"�"�����2"���� �� �����"����# ��'����#�!" �# 4


����!" �75 9>�  �?@�#��": !� �
������ ������ A �� �� ��������� ���������
�� ��

�� C0���
����
� �� ������������� T (t) (‖T (t)‖ ≤ 1, t ≥ 0)$ �� � �	�� �� �� ��

��� ���

��� ����������� ����������#

@
B A �� ������� � D(A) �� ����� �� Z&

@

B '� ���*���� ���������� �� A$ ρ(A) �������� �� ��������� ���� (0,∞) � 
��� ����

λ ∈ (0,∞)$ ∥∥(λI − A)−1
∥∥ ≤ 1

λ
.

'� �
������ (λI − A)−1 �� ����
��� ���	�!���� 
� A �� λ � �� ������ �����
����


�� R(λ; A)&

�	� 	��	 ��
	' �������  �� �
 ‖T (t)‖ ≤ Meωt ���� �	
	 t ≥ 0 - �
 λ > ω' ���	����

e−λtT (t)z �� 
��������� �� �� ����

	 
� 3	����� ���� �	
	 z ∈ Z ' - ��� �+�' �� �
���

 �� λ ∈ ρ(A) -

R(λ; A)z =

∫ ∞

0

e−λtT (t)z dt,

�� 
��
�' �� ���	�!���� 
� A �� λ �� �� �����"	���
� ��
������� 
� /������ 
�� ���
����	

������
	 �	� A& �� ���� �	������
	 - �� ��	���� �����
	� �� 	��
��� �� �
��
����


��� "��� �7�6 ��� A �� ��������� ���������
�� �� �� C0���
����
� �� �������������

T (t)& '������� �� ���*���� ���������� �� A �������� �� ��
�
���� ������� ��� 
����

��

��*�$ �� �����$ ρ(A) ⊃ {λ ∈ C : Re λ > 0} � 
��� ����� λ

‖R(λ; A)‖ ≤ 1

Re λ
.

�� �
��
���� �	�	���
	 �	� 
� ��� ��������
(��
#� 
� �	� ������
	��� 
�)�
���
����� 
�

���
����	�  �� ���
�� �	 ����� ��	��
	� �	� 1' ���	  �� ����� ��	��
	� �	� eωt @M = 1B

���� ���+� ω ≥ 0&


��� "��� �7�� !� �
������ ������ A �� �� ��������� ���������
�� �� �� C0���
����
�

��� �����"��� ‖T (t)‖ ≤ eωt �� � �	�� �� �� ��

��� ��� ��� ����������� ����������#



3 ������������ � ��� �!��"��#

@
B A �� ������� � D(A) �� ����� �� Z&

@

B '� ���*���� ���������� ρ(A) �� A �������� � �� ��
������� {λ : Im λ = 0, Reλ > ω}
� 
��� ����� λ

‖R(λ; A)‖ ≤ 1

λ − ω
.

D��	� !
��	 ����� � �$ ��� ��������
(��
#� 
� �	� ������
	��� 
�)�
���
����� 
� ��2

�
����	� �� ����
�	� 
� �� �	��� 
� �� ���	�!���� 
� A& � �	��
����
#� !����	� 	���

��������
(��
#�  �� �
��� �� ������ ��	�
�
�
�� �	�	 �� 

�
���
!

�
 
�� 	����
	� A&

����� �����
�����	� ��� �
��
����� 
	� 
�)�
�
	���0

��'������ �7�$ ��� Z �� ��
���� �� )����� � ��� Z∗ �� ����$ 
��� z ∈ Z$ �����
��

�� �	�.���	 
� 
���

�
 F (z) �� z 
��

F (z)
.
=
{
z∗ ∈ Z∗ : 〈z∗, z〉 = ‖z‖2 = ‖z∗‖2

}
,

����� 〈z∗, z〉 ������ �� ����� ��� "�������� z∗ ∈ Z∗ �� z ∈ Z .
�� �� �����
� �� 2���3

)����� F (z) �� �� ���,�/&

��'������ �7�* !� �
������ ������ A �� ����
����� �� 
��� ���� z ∈ D(A) �(���� ��

z∗ ∈ F (z) ��� ��� Re〈Az, z∗〉 ≤ 0&

�	���	�  �� �
 Z �� �� �����
	 
� D
�����' A �� 

�
���
!	 �
 - �#�	 �
 Re〈Az, z〉 ≤ 0

���� �	
	 z ∈ D(A)' ���� �� ���� ���	 F (z) = {z}' ∀z ∈ Z& �� �
��
���� �������
	 
�

��� ��������
(��
#� 
� �	� 	����
	��� 

�
���
!	� �� �����
	� 
� 3�����&


����!" �7�- !� �
������ ������ A ����� �� ��
���� �� )����� Z �� ����
����� �� �

�	�� �� ‖(λI − A)z‖ ≥ λ‖z‖ 
��� ���� z ∈ D(A) � 
��� ���� λ > 0&

�� �
��
���� ��	����' �	�	�

	 �	�	 ��	���� 
� /�������
��
�� ��	!�� ��� �	�

�
#�

�������
� - ��� ��)�
���� �� ����
�	� 
� �� 

�
���
!

�
 
� �� 	����
	� �
���� ����  ��
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�� �
��	 ������ �� ���
����	 
� �	������
	���&


����!" �7�) 9��!��?�B�  �&#: ��� A �� �
������ ������ ��� ��
���� ����� �� ��

��
���� �� )����� Z&

@�B �� A �� ����
����� � �(���� �� λ0 > 0 ��� ��� �� ����� R(λ0I −A) �� (λ0I −A) �� Z$

�� �����$ �� (λ0I −A) �� ������������$ �������� A �� �� ��������� ���������
�� �� ��

C0���
����
� �� ������������� �� Z&

@�B 4��,
����
����$ �� A �� �� ��������� ���������
�� �� �� C0���
����
� �� ��������

������ �� Z �������� R(λI − A) = Z 
��� ���� λ > 0 � A �� ����
�����& 1�� �5�$


��� ���� z ∈ D(A) � ���� z∗ ∈ F (z)$ Re〈Az, z∗〉 ≤ 0&


��� "��� �7�0 ��� A �� �
������ ������ ��� ��
���� ����� �� �� ��
���� �� )�����

Z& �� A � A∗ ��� �
��� ����
������$ �������� A �� �� ��������� ���������
�� �� ��

C0���
����
� �� ������������� �� Z&

�� �
��
���� ��	���� �� ��� �������
(��
#� 
�� ��	���� 
� D
����K	�

� @��	���� 1&<B

- 
� ��� ��������
(��
#� 
�� ������
	� 
�)�
���
��� 
� �� C02���
����	 �� �������&


����!" �7�4 !� �
������ ������ A �� �� ��������� ���������
�� �� �� C0���
����
�

T (t) ��� �����"��� ‖T (t)‖ ≤ Meωt$ �� � �	�� �� �� ��

��� ��� ��� ����������� ����������#

@
B A �� ������� � D(A) �� ����� �� Z&

@

B '� ���*���� ���������� ρ(A) �� A �������� �� ��������� ���� (ω,∞) �

‖R(λ; A)n‖ ≤ M

(λ − ω)n 
��� λ > ω, n = 1, 2, . . . .

��' ���� ����	 (�)����������	 � ����*����	

D��	� !
��	 ����� ��	�� @��	���� 1&7B  �� �
 A ������ �� C02���
����	 �� �� �����
	


� 3����� Z' ���	���� �� ��	����� 
� �����- ��������	 @1&1B �
��� ��� +�
�� �	���
#�



�6 ������������ � ��� �!��"��#

���� �	
	 z0 ∈ D(A)' - ���	� !
��	 ����
�� �	�

�
	��� �������
�� - ��)�
����� ����

 �� �� 	����
	� A ������ �� C02���
����	& *
� ������	' �� �� �.����	 ����
��	 
�

�� �����
#� 
�� ���	�' �����	�  �� �� ��	����� �
��� �	���
#� ���� ���� z0 ∈ Z - �	

�#�	 ���� z ∈ D(A)& �	� ���������	� ���	����0 I��� �	�

�
	��� �	��� �� 	����
	� A

��������  �� �� ��	����� ����� �	���
#� ���� �	
	 z0 ∈ Z' 	 �� ���	� �� �� �	�.���	

��� ����
�  �� D(A)J ���� �	������� � ���� �������� �����
�����	� ���!
������ �������


�)�
�
	��� - �������
	� �	��� ���
����	� 

"�����
�����&

��'������ �7�3 �� ���� ��� �� ��
����
� T (t) �� �� ��
���� �� )����� Z �� 

"����2

�
���� ���� t > t0 �� 
��� ���� z ∈ Z$ �� 
�
�� t → T (t)z �� ��"���������� �� �� ���������

(t0,∞)& '� ��
����
� �� 

"�����
���� �� �� ��"���������� 
��� t > 0&

*��+� �� ��	���� 1&7' �
 T (t) �� �� C02���
����	 �	� ������
	� 
�)�
���
��� A -

z ∈ D(A)' ���	���� �� ����	 t → T (t)z �� 

"�����
���� ���� �	
	 t ≥ 0& *
 T (t) "����

��� �+� 

"�����
����' ���	���� ���� ���� z ∈ Z - �	 �#�	 ���� z ∈ D(A)' �� ����	

t → T (t)z ���$� 

"�����
���� ���� t > 0' ��� �� �	 ���� t = 0& �	���	� �	� 	��	 ��
	  ��

�
 t → T (t)z �� 

"�����
���� ���� �	
	 z ∈ Z - t ≥ 0 @�� t = 0 �	��

����	� �� 
��
!�
�

������� 
������B' ���	���� D(A) = X @�	� 
�)�
�
#� 
� D(A)B - �	�	 A �� �����
	' ���$�

�������
������ ��	��
	 �� !
���
 
�� ��	���� 
�� ���)�	 �����
	& �	� �	  �� ������	� 
�

����
	���' !��	�  �� �	 �
��� ����

	 
�)�
� �	�	 ���
����	� 

"�����
����� � � ����	�

 �� �	 �	� ���� t ≥ 0' �����	  �� �����$��	� !	�!
��
	 �� ���	 
� 	����
	��� ��	��
	�&

�� �
��
���� ���� .���	 �	� �� �	�	���
	 �	���
��-�� �� �������
	 
��	������ �	���

�	� ���
����	� 

"�����
�����' �	�	�

	 �	�	 
��
����� ���������� �� ��� ��
����
�� ���

"����������� @��		��
�� ��	����- 	" 

L�����
���� ���
��	���B&

��!" �7�5 ��� T (t) �� C0���
����
� ��"���������� 
��� t > t0 � ��� A �� ���������

���������
��$ �������� 
��� ���� n ∈ N � t > nt0$ �� �
������ T (t) 
���� Z � D(An)&

'� 
���������$ �� t > t0$ T (t)z ∈ D(A) 
��� ���� z ∈ Z&



�7- ��!�1��&�# ��+������", �# � 	�" A����# ��


��� "��� �7$6 �� T (t) �� �� C0���
����
� ��"����������$ �������� T (t)z ∈ D(An)


��� ���� t > 0$ z ∈ Z � n ∈ N&

�	�	 �	��������
� 
� ���	� 
	� �������
	�' !��	�  �� �
 T (t) �� �� ���
����	 

"�2

����
����' ���	���� �� ��	����� 
� �����- @1&1B �
��� �	���
#� ���� �	
	 z ∈ Z&

� �	��
����
#� 
����	� ��� ��������
(��
#� 
� �	� ������
	��� 
�)�
���
����� 
� C02

���
����	� 

"�����
����� ���� t > t0&


����!" �7$� ��� T (t) �� C0���
����
� ��� ��������� ���������
�� A& �� ‖T (t)‖ ≤
Meωt$ �������� ��� ��� ���
������� ���������� ��� ������������#

@
B '(���� t0 > 0 ��� ��� T (t) �� ��"���������� 
��� t > t0&

@

B '(����� ���������� ������ a$ b > 0 � C > 0 ����� ��� .��� ������ 6&6�/

ρ(A) ⊃ Σ
.
= {λ ∈ C : Re λ ≥ a − b log | Im λ|} @1&6B

�

‖R(λ; A)‖ ≤ C| Im λ| 
��� λ ∈ Σ, Re λ ≤ ω. @1&7B

�� �� 
��	�����
#� 
� ���� ��	���� F74' ��	���� 4&7&5G �� �
��� �� �
��
���� �������2

�
(��
#� 
�� ������
	� 
�)�
���
��� 
� �� ���
����	 

"�����
���� @t0 = 0B&


����!" �7$$ ��� T (t) �� C0���
����
� ��� �����"��� ‖T (t)‖ ≤ Meωt � ���� �������

��� ���������
�� �� A& '������� �� ��
����
� T (t) �� ��"���������� �� � �	�� �� 
��� ����

b > 0 �(����� ���������� ������ ab � Cb ��� Cb > 0 ����� ���

ρ(A) ⊃ Σb = {λ ∈ C : Re λ > ab − b log | Imλ|}

�

‖R(λ; A)‖ ≤ Cb| Imλ| λ ∈ Σb, Reλ ≤ ω.



�$ ������������ � ��� �!��"��#

� �	��
����
#� 
���	
��
���	� �� �	�����	 
� ��
����
� ����,����  �� ���� 
� ����

��
�

�
 � �� �	�� 
� 
�)�
� �	����
�� "����
	���
�� 
� 	����
	��� �����
	� - ���� �����.��

�	� ��	������ 
� �����- ��������	� �	�
������&

��'������ �7$* ��� Δ = {γ ∈ C : φ1 < arg γ < φ2, φ1 < 0 < φ2} � 
��� γ ∈ Δ$ ���

T (γ) �� �
������ ������ � ������� �� �� ��
���� �� )����� Z& +���
�� ��� �� "�
����

T (γ)$ γ ∈ Δ$ �� �� ��
����
� ����,���� �� Δ �� �� ��

��� ��� ���������� �����������#

@
B '� 
�
�� γ → T (γ) �� ����,���� �� Δ&

@

B T (0) = I � lim
t→0
t∈R

+

T (t)z = z 
��� ���� z ∈ Z&

@


B T (γ1 + γ2) = T (γ1)T (γ2) 
��� γ1, γ2 ∈ Δ&

���������� �� �����
��
#� 
� �� ���
����	 ����$�
�	 �� �.� ���� �� �� C02���
����	& ��

�������' 

���	�  �� �� ���
����	 T (t)' t ≥ 0 �� �� ���
����	 ����$�
�	 �
 �� �� �����
��
#�

�� �.� ���� 
� �� ���
����	 ����$�
�	 
�)�

	 �� �� ����	� ������� Δ' 	 � �
!�����������'

�
 ���
� �%���
���� �� "	��� ����$�
�� � �� ����	� ������� Δ �� �� "	��� ����
	��
� ��

�� ��)�
�
#� 1&46& �� �
��
���� ��	���� 
� ��� ��������
(��
#� 
�� ������
	� 
�)�
���
���


� �� ���
����	 ����$�
�	 �� ����
�	� 
�� �	�.���	 - �� 	����
	� ���	�!����&


����!" �7$- ��� T (t) �� C0���
����
� ��� ��������� ���������
�� A ��� �����"���

‖T (t)‖ ≤ Meωt � ��� ��� ω ∈ ρ(A) (0 ∈ ρ(A − ωI))& -�� ���������� ���
������� ���

������������#

@�B T (t) 
���� �(�������� � �� ��
����
� ����,���� �� �� ������ Δδ = {γ ∈ C : | arg γ| <

δ} 
��� ���5� δ > 0 � 
��� ���� 0 < δ′ < δ �(���� ��� ��������� Mδ′ ≥ 1 ��� ���

‖T (γ)‖ ≤ Mδ′e
ω Re γ �� �� ��������� ������� Δδ′ �� Δδ&

@�B '(���� ��� ��������� C ��� ��� 
��� ���� σ > 0$ τ �= 0

‖R ((ω + σ) + iτ ; A)‖ ≤ C

|τ |



�7- ��!�1��&�# ��+������", �# � 	�" A����# �*

@�B '(����� 0 < δ < π/2 � M > 0 ����� ��� .��� ������ 6&6�/

ρ(A) ⊃ Σ =
{

λ ∈ C : | arg(λ − ω)| <
π

2
+ δ

}
∪ {ω}

�

‖R(λ; A)‖ ≤ M

|λ − ω| 
��� ���� λ ∈ Σ \ {ω}.

@
B T (t) �� ��"���������� 
��� t > 0 � �(���� ��� ��������� C ��� ���

‖AT (t)‖ ≤ C

t
eωt 
��� ���� t > 0.

C�λC�λ

ΣΣ

ea/b

−ea/b

��λ��λ

ω

δ
��λ = a − b log(��λ)

��λ = a − b log(−��λ)

@�B @�B

�
���� 1&10 �	��� 
�� �	�.���	 Σ ⊂ C ���� �	� ���
����	� �
"�����
����� @�B -
����$�
�	� @�B&

�%
���� 	���� ��������
(��
	��� 
� ������
	��� 
�)�
���
����� 
� ���
����	� ����$�
2

�	�' ���	 �	 ��� �����
����	� � �$ 
�
	  �� �	 �	� �������
�� ���� �� 
�����	��	 
��

�������� �����.	 - �	 �� ������	 	�.��
!	 ����� �� ����

	 �%�����
!	 
� �� ��	�$� 
�

���
����	�' �
�	 �	������� �%�	��� �����	� �������
	� ���
�	� 
� �� �
���&

�	
��	� �	����
� ���	����  �� �
 A �� �� ������
	� 
�)�
���
��� 
� �� ���
����	



"�����
���� 	 ����$�
�	' �� ��	����� 
� !��	��� 
�
�
���� @1&1B �
��� ��� �	���
#� +�
��
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���� �	
	 z0 ∈ Z& *
 A �� �� ������
	� 
�)�
���
��� 
� �� C02���
����	  �� �	 ��



"�����
����' ���	����' �� �������' �
 z0 /∈ D(A)' �� ��	����� 
� !��	��� 
�
�
���� @1&1B �	

�
��� �	���
#�& *
� ������	' �� "���
#� t → T (t)z0 ���� �
�� 
�)�

� �+� �
 z0 /∈ D(A) -

�� ��� �������	� ������������ � ��  �� ��������	� ������	� �7��� 
� @1&1B&

��+ ��������	 ������������	 
� ,����
���	 !����
�	

�� ���� ����
#� 
����	� ��� 
�)�
�
#� 
� �	����
� α 
� �� 	����
	� �����
	' ����

!��	��� ������ 
� α& ���� 
�)�
�
#� �	� �	�
��
�� � �� 
�)�
�
#� 
� �	� 
	�
�
	� 
� ���

�	����
�� 
�� 	����
	�'  �� ���������� ��� �����
	�  �� �� ���������� M�����N �� 
	�
�
	


�� 	����
	� 	�
�
��� - �� �����
	 
� 3����� Z �	��� ��  �� ���� 
�)�

	& ���	� �����
	�

���������� 
� "	��� ������� ��� �
������ �� ����

�� �����
	��� 
� �!	���
#� �	�
������&

*��	�
���	� � �	 ����	 
� ���� ����
#�  �� �� 	����
	� A �� �� ������
	� 
�)�
���
���


� �� ���
����	 ����$�
�	& �	� �� ��	���� 1&47 - �	� �� ����	  �� �� ���	�!���� 
� ��

	����
	� �����
	 �� �� �	�.���	 ��
���	' �%
���� �� �+���	 ���� ω ≥ 0' �� ���	��	 V 
��

	�
��� �� C - ��� �	������� δ ∈ (0, π/2) �����  ��

ρ(ωI − A) ⊃ Σ+ .
= {λ ∈ C : 0 < δ < | arg λ| ≤ π} ∪ V

- ���� �	
	 λ ∈ Σ+ \ {0}' ‖R(λ; A−ωI)‖ ≤ M
|λ| & ���� �
���
)��� �� �	���
#� ��������	�

Aω �� 	����
	� A − ωI  �� ���
�"��� 0 ∈ ρ(Aω) -  �� ������ �� ���
����	 ��	��
	

T (t)e−ωt&

��)�
�	�' ���� α > 0'

(−Aω)−α =

∫
C

γ−α (−γI − Aω)−1 dγ @1&8B


	�
� C �� �� ���
�	  �� �� ��������� �� Σ+ 
� ∞e−iθ � ∞eiθ' �	� δ < θ < π' �!
���
	

�� �.� ���� �����
!	 - �� 	�
��� @!�� �
���� 1&4B& @�	��0 �	���	� γ−α > 0 ���� !��	���

�	�
�
!	� 
� γB& ���
� ��	�����  �� �� 
������� @1&8B �	�!���� �� �� �	�	�	�$� ��
"	���


� 	����
	��� - 
�)�� �� 	����
	� �
���� ��	��
	 (−Aω)−α ∈ L(Z)& *
 α = n ∈ N0

�� 
�������
	 �� ����$�
�	 �� Σ+ - �� "��
� !��
)���  �� �� ���
�	 
� 
�������
#� ���
�



�7) �������"# ��"�����"��"# �� �&��"����# 
���"��# �)

�����"	������ � �� �� ��,	 �$����	 ����
�
	� 
�� 	�
���& /���	' ��
�
(��
	 �� ��	���� 
�

�	� ���

�	� �� �
���  �� �� 
������� �� (−Aω)−n - ���� !��	��� 
� α �����	� �	 �����
!	�'

�� 
�)�
�
#� 
� (−Aω)−α �	
��

� �	� �� 
�)�
�
#� ����
�� 
�
(
(−Aω)−1)n

' �� ����
�����

(−Aω)0 = I&

C�λ

Σ+

��λ
θ

δ

C

�
���� 1&40 C��
#� Σ+ - "	���  �� 
��� ����� �� ���!� C ���� 
�)�
� ���
�	����
�� "����
	���
�� 
� �� 	����
	� �����
	

���� 0 < α < 1 �� ���
�	 ���
� 
�"	������ �� ��
	 �����
	� - �� ��
	 
�"��
	� 
��

���
�.� ���� �����
!	 - �� 	��
��� 
� ���� �	
	

(−Aω)−α =
sen πα

π

∫ ∞

0

t−α (tI − Aω)−1 dt 0 < α < 1. @1&9B

�� ���� +��
�� �%����
#� - ��
�
(��
	 �� ����	  �� ((t + ω)I − A)−1 =
∫∞
0

e−s(t+ω)T (s) ds

���� �	
	 t > 0' ���
� 
�
��
��� �� "#�����

(−Aω)−α =
1

Γ(α)

∫ ∞

0

tα−1e−ωtT (t) dt @1&5B


	�
� Γ(α) �� �� "���
#� ;����' Γ(α) =
∫∞
0

e−xxα−1 dx&

?�
�
(��
	 ���� +��
�� �%����
#�'  �� �	� 
� ��� "#����� ���� 
�)�
� (−Aω)−α ����

0 < α < 1' ���
� 
��	������� �� �
��
���� ����' �� ���� �
��� ��	�
�
�
�� 
� (−Aω)−α

 �� ���� 
� ��������� 
� ��� 
�������� 
� �� 	����
	�&

��!" �7$) 9�: �� α ≥ 0 � β ≥ 0$ �������� (−Aω)−(α+β) = (−Aω)−α (−Aω)−β&



�0 ������������ � ��� �!��"��#

9��: '(���� ��� ��������� C ��� ���
∥∥(−Aω)−α

∥∥ ≤ C 
��� 0 ≤ α ≤ 1&

9���: ���� ���� z ∈ Z �� ����� ��� lim
α→0

(−Aω)−α z = z&

9�.: -� "�
���� �� �
�������� S(t) = (−Aω)−t �� �� C0���
����
� �� �
�������� ��������

� �������� ����� Z&

9.: (−Aω)−α �� ��� � ��� 
��� ���� α > 0&

�� !
���
 
� ���� ����' �	
��	� ���������� �� �
��
����

��'������ �7$0 ���� ���� α > 0 �� ����� �� 
������� α �� (−Aω) 
��

D (−Aω)α = R (−Aω)−α , (−Aω)α =
(
(−Aω)−α)−1

.


����!" �7$4 ��� (−Aω)α ���5� �� +������	� 6&89$ ��������

9": '� �
������ (−Aω)α �� ������� �� �� ��
���� D (−Aω)α = R (−Aω)−α$ �� ����� ��

(−Aω)−α&

9,: �� α ≥ β ≥ 0$ �������� D (−Aω)α ⊂ D (−Aω)β$ ����� �� �������	� �� �������� �

�����&

9�: D (−Aω)α �� ����� �� Z 
��� ���� α ≥ 0&

9�: �� α � β ��� ������$ ��������

(−Aω)α+β z = (−Aω)α (−Aω)β z


��� ���� z ∈ D (−Aω)γ$ ����� γ = max(α, β, α + β)&

� �	��
����
#� �� 
� ��� �%����
#� �%��$�
�� ���� (−Aω)α' �
 α ∈ (0, 1)&


����!" �7$3 ��� 0 < α < 1& �� z ∈ D(A) ��������

(−Aω)α z = −sen πα

π

∫ ∞

0

tα−1Aω (tI − Aω)−1 z dt.
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�	� +��
�	' ����
	���	� � �	��
����
#� �����	� �������
	�  �� �����
	��� (−Aω)α

�	� �� ���
����	 T (t) ������
	 �	� A&


����!" �7$5 ��� A �� ��������� ���������
�� �� �� ��
����
� ����,���� T (t)$ � ���

ω ∈ ρ(A) ∩ R$ ��������

9": T (t) : Z → D (−Aω)α 
��� ���� α ≥ 0 � t > 0 .����� ��� �� ���� 
��� t = 0/&

9,: ���� ���� α ≥ 0$ t ≥ 0 � z ∈ D (−Aω)α �� ����� ��� T (t) (−Aω)α z = (−Aω)α T (t)z&

9�: ���� ���� α ≥ 0 � t > 0$ �� �
������ (−Aω)α T (t) �� �� �
������ ������� �� Z ��

Z& 1�� �5�$ 
��� ���� α ≥ 0 �(���� ��� ��������� Mα ≥ 1 ��� ���

‖(−Aω)α T (t)‖L(Z) ≤ Mα eωt t−α.

9�: ���� ���� 0 < α ≤ 1 �(���� ��� ��������� Cα > 0 ��� ��� 
��� ���� z ∈ D (−Aω)α$

�� ����� ���

‖T (t)z − z‖ ≤ Cα tα ‖(−Aω)α z‖ .

��- .�� !��	� 
� ���������	 
� �������
� ���������	

�� ���� ����
#� �	��

����	� �� ��	����� 
� !��	��� 
�
�
����

⎧⎪⎨
⎪⎩

dz(t)

dt
= Az(t) + f(t, z(t)), t ∈ (0, T )

z(0) = z0,

@1&:B


	�
� A �� �� ������
	� 
�)�
���
��� 
� �� C02���
����	 T (t) �� �� �����
	 
� 3�����

Z' - f(t, z) �� ��� "���
#� 
� [0, T ] × D(F ) �� Z ���� ���+� �	�.���	 D(F ) ⊂ Z&

�� )��� 
� �� *���
#� 1&7 !
�	� �� �	�
#� 
� �	���
#� 
��
� ���� �� ��	����� 
� !��	���


�
�
���� �
���� �	�	����	& ����	�������' ���
� 
�)�
���' ���� �� ��	����� 
� !��	���


�
�
���� ��� ������� @1&:B �� �	�����	 
� �	���
#� 
��
�&
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��'������ �7*6 -��
���
�� ������	� �7��� �� �� ������	� @1&:B � ���� "����	� z(t)

�������� �� [0, T ) ��� �����"��� �� ������	� ��������

z(t) = T (t)z0 +

∫ t

0

T (t − s)f(s, z(s)) ds, 0 ≤ t < T. @1&<B

�� ����	  �� �
 f(t, z) = h(t)' �� 
��
�' �
 f(t, z) �� 
�
����

���� 
� z' �� ��	�����


� !��	��� 
�
�
���� @1&:B �
��� �	���
#� 
��
� �� [0, T ) �
�����  �� h ∈ L1(0, T : Z)& ��

���� ���	' �� �����
#� �	 �� �	�
����' �
�	  �� �� �
���� �	 �	�	�����& ���� ����

�� ��

�%
�����
� 
� �	���
	��� �������� 
� �� �����
#� �
���� �	 �	�	����� ����� �	� ����

��

�� �������

�
 
� z(t) 
�
� �	�

z(t) = T (t)z0 +

∫ t

0

T (t − s)h(s) ds,


�
	  �� �
 ���� �� 

"�����
���� �� (0, T ) - �	��
��� �� [0, T )' ���	���� z′(t) = Az(t)+h(t)

�� (0, T ) - z(t) �� �	���
#� ����
��& C������
	� �� ���� �$��� ���
�� ���	������� �� F74'

���$���	� 7 � 9G&

�� �������' �� ��	����� 
� �� �%
�����
� 
� �	���
	��� 
�� �E� @1&:B �� ��
��� ��

��	����� 
� �%
�����
� - ����������� 
� �	���
	��� 
� �� �����
#� 
������� @1&<B&

����
	 �� "���
#� f(t, z) ��
���� 
� �� !��
���� z ���
� ����
��  �� �
 �
 �
��� ��

�����
#� 
������� @1&<B ����� �	���
#�' �	  �� 
���
���$�  �� �� �����
#� @1&:B �	 �
���

�
 �
��� �	���
#� 
��
� -' ����	 ���	�' �	���
#� ����
��& ���� ��������$��
�� ���� ���


���������� �� ��	����� �������
�	 
� �� �%
�����
� 
� �	���
	��� �� ���� ���	& �� ��
���

�������
	 �����
	��
	 �	� �� �%
�����
� 
� �	���
	��� 
�� ��	����� @1&:B �� �� ��	����  ��

�
���' ��-� 
��	�����
#� ���
� ���	������� �� F74' ��	���� 9&1&5G&


����!" �7*� ��� f : [0, T ] × Z → Z ���"��
�
���� -�
������ �� Z � ��� ��� 
���

���� z ∈ Z$ f(·, z) �� ��� "����	� �������� �� [0, T ] → Z& '�������$ �� z0 ∈ D(A)$ ��


�����
� �� ������� ��������� @1&:B ����� ��� 5���� ������	� ������� �� [0, T )&

�� �
��
���� �������
	 F74' ��	���� 9&6&1G �	��� �� �%
�����
� 
� �	���
	��� ���� ��
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�E� @1&:B �� �
���  �� A ������ �� ���
����	 ����$�
�	' ���	 ����
��  �� �� ����� �	�
����

f(t, z) ��� ���	� �������' � �� !�(  �� ������� �� �%
�����
� 
� �	���
	��� ���� �� 
��	


�
�
�� z0 �� �� �	�.���	 ��� ����
�  �� D(A)& *����	�' �	� �� *���
#� 1&8'  �� �
 A

������ �� ���
����	 ����$�
�	' ���	���� �%
��� �� ω ∈ R
+
0 ���  �� ���
�� 
�)�
��� ���

�	����
�� α 
� (ωI − A) = −Aω' ���� ���� �
�� α ∈ R& �
����' �
 α > 0' �� 	����
	�

(−Aω)α �� �����
	 - ����	 �� �����
	 D (−Aω)α �� 
� 3����� �	� �� �	��� 
�� ���)�	


� (−Aω)α& /�������	� Zα �� �����
	 D (−Aω)α �	� �� �	��� ‖z‖α

.
= ‖(−Aω)α z‖Z  ��

�� � �
!������ � �� �	��� 
�� ���)�	 
� (−Aω)α ���� (−Aω)α �� 
�!���
��� �	� 
�!����

��	��
�&


����!" �7*$ ��� A �� ��������� ���������
�� �� �� ��
����
� ����,���� T (t) ���

�����"��� ‖T (t)‖ ≤ M & ��
����
�� ��� U �� �� ���*���� ������� �� R
+
0 × Zα � ��� ��

"����	� f : U → Z �����"��� ��� 
��� ���� 
�� (t, z) ∈ U �(���� �� ������� V ⊂ U �

���������� L ≥ 0$ 0 < θ ≤ 1 ����� ���

‖f(t1, z1) − f(t2, z2)‖ ≤ L
(|t1 − t2|θ + ‖z1 − z2‖α

)
@1&1>B


��� ���� (ti, zi) ∈ V & '������� 
��� ���� ���� ������� (0, z0) ∈ U $ �� 
�����
� �� �������

��������� @1&:B ����� ��� ������	� ����� 5���� z ∈ C([0, t1) : Z) ∩ C1((0, t1) : Z) �����

t1 = t1(z0) > 0&

=����!��
	 �� 
��	�����
#� 
� ���� �������
	 F74' ��	���� 9&6&1G �	
��	� �	����
�

 �� �� �	���
#� �	 �#�	 �� �	��
��� �� �� �	��� 
�� �����
	 Z' �
�	  ��' ��� �+�' ��

�	��
��� �� �� �	��� ��� "����� 
� Zα' ���� α ���
�"��
��
	 @1&1>B&

����
	 �� ����

�� �����
	��� 
� �!	���
#� �� �����
	� 
� ����
	 
� 

����
#� )�
��

.���� �� ����� �����
�� �� �����
� +���������� �� :���;���& �� �	��

���� �����
	� 
�



����
#� 
�)�
��' - �����$)������� �����
	��� 
� �!	���
#� �	�	 ��� ��������
�� ��

���� ����
#�' �� �
��	 �	� �	 ������ ��� �������
(��
#� 
� �� ���
����
�
 
� ;�	�H���

���� 
�������
	� �
��������& O��� �� �������� �� �� �
��
���� ���� ��-� 
��	�����
#�

���
� ���	������� �� F4<' ��	���� 5&1&1G&
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��!" �7** ���� T > 0$ a(t) ��� "����	� �� ��������$ �����
���� ���������� �� [0, T ]$

L ≥ 0 � 0 < δ < 1& '������� �(���� ��� ��������� K = K(δ, L, T ) ����
�������� �� ��

"����	� a(t)$ ��� ��� 
��� ���� "����	� u(t) ��� �����"���

u(t) ≤ a(t) + L

∫ t

0

1

(t − s)δ
u(s) ds �� [0, T ],

�� ����� ��� u(t) ��
��7� �������

u(t) ≤ a(t) + K

∫ t

0

a(s)

(t − s)δ
ds, 
��� ���� t ∈ [0, T ].

��/ �
����%����
� 
� ���0�����	

�� ���� ����
#� 
���	
��
���	� �� ��	����� 
� 

���
)���
#� 
� ��������	� ��-� ���	��2

�
#� ��������	� �� �	� ���$���	� �
��
�����&

*��� Z - Q̃ 
	� �����
	� 
� 3�����' A �� ������
	� 
�)�
���
��� 
� �� ���
����	

����$�
�	 T (t) �� Z' D �� ����	�.���	 
� Z' Q �� ����	�.���	 
� Q̃ - F : Q×[0, T ]×D →
Z& ���� ��
� q ∈ Q - z0 ∈ Z' �	��

������	� �� �
��
���� ��	����� 
� �����- �	�
����

�� Z ⎧⎪⎨
⎪⎩

dz(t)

dt
= Az(t) + F (q, t, z(t)), t ∈ (0, T )

z(0) = z0.

@1&11B

/�������	� �����
	 
� ��������	� � Q̃' �
������  �� � Q �	 ��������	� ���*���� ��


���
����� ��
�������& �� �$����
�' �	��

������	� �� �E� 
�� �
�	 @1&:B ���	 �� �����

�	�
���� 
����
� 
� �� ��������	 q  �� �	�� !��	��� �� �� ����	�.���	 
� �� �����
	


� 3�����&

*��	����	� �	� �� �	����	  �� �� ��	����� @1&11B ���� �
�� �������
	 �� �� ����

	


�  �� ���� ��
� q ∈ Q' �%
��� ��� +�
�� �	���
#� �� [0, T ) � ��  �� ��������	� z(t; q)&

*��	����	� ����
��  �� �	����	� 	����!��
	��� ẑi 
�� �
����� "$�
�	 
����
��	 �	� @1&11B

�� �
���	� 

�����	� ti' i = 1, 2, . . . , m - 
�����	� 
�����
���' � ����
� 
� �����' ��

��������	 q ∈ Q ���  �� �� ����� 	����!�
� Cz(ti; q) 
�� ����
	 z(ti; q) @
����

���� 
��

��������	 qB ���	%
�� �	 ��.	� �	�
���' �� ���+� ����

	' � ��� 	����!��
	��� {ẑi}& ����
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�
�	 
� ��	����� ���
�� �� �	���� 
� 
�����
� �� �����������	� �� 
���
����� 
�
	  ��

��	  �
��� ���
��� �� !��	� 
�� ��������	 q 
�� �
����� "$�
�	 
����
��	 �	� @1&11B ���� ��

���� �� ����
	 �	
��

� �	� ��� 	����!��
	���&

�� ������ ��� ����
��' 
�)�
�	� �� 
�����
� �� �����������	� �� 
���
����� @��B

�	�	 �
���0

@��B0 ���	����� q ∈ Q  �� �
�
�
�� �� ��
���
	 
� ���	�

J(q) =
1

2

m∑
i=1

‖Cz(ti; q) − ẑi‖2
Y


	�
� C �� �� 	����
	� �
���� - ��	��
	 
�� �����
	 
� ����
	� Z �� �� �����
	 
�

D
����� ���� Y & �� �����
	 Y ���������� �� �����
	 
� ��� 	����!��
	��� - �� 	����
	� C ��

�� 	����
	� 
� 	����!��
#�' �� 
��
�' Cz(t; q) �� �� ����� 	����!�
� 
�� ����
	 �� �
���	 t&

�� ��
��
�
	' ���
��
	 �� ������ �� 
����
��
#� 
�� ��	�����' ������$� ��

�  �� Y "����

�� �����
	 ����
�	 ���� �	
�� 
�)�
� �� 

�����
� 
� Cz(ti; q) � ẑi' ���	 �	� �	�!��
���
�

- 
�
	  �� �� ������� Y = Rn' ���� ���+� n' ��

�	�  �� Y ��� �� �����
	 
� D
�����

����&

���� �� ������
���	 
� ���	� ��	������ 
� 

���
)���
#� �%
���� 
	� ������ 
� ���	2


	�& /� ��
���� �����' "������������� ��
�
(�
� �� ��	������ �
������' �� �	���
��-�� �	�


7����� ����������& ���	� �	��
���� �� ���	%
��� ��
���	 ��� �����
	��� 
�� �	
��	 ��2



���� �� ��
�
(��
#� 
� �������	� )�
�	�' 

"�����
�� )�
���' ���	%
���
	��� �����������'

���&' - ����	 ��
�
(�� ���	�
��	� 
� 	��
�
(��
#� �	��� �� ��	����� �� 

����
#� )�
��

����������&

/� �����
� ����� ���� �	������� �	� �	� �����
	� 
7����� ��������'  �� �� ����� ��

�� ���
���
#� ������" 
� �� ���	�
��	 
� 	��
�
(��
#� @ �
(�� 
�)�
�	2

����
	���B - ��

�� ���
���
#� 
� ���	%
���
	��� �����
��� �� ��
� ���	 
�� ���	�
��	 ���� ���	%
��� ���

�	���
	��� 
�� �
�����  �� ���� �������
��&

���	� ���	
	� �
���� !����.�� - 
��!����.��' - 
����

��
	 
�� ��	�����  �� ��

���� �	��

����
	' �� ���	
	 
� ��� ����� ���
� �������� ��.	�  �� 	��	 
� �� 	��� �����&

�� �������' �	� ���	
	� 
�

����	� �	� ��� ����
��	� 
� 
���������� �	������
	���2
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����� ���	' �����
��� �������� ��� ��-	� ����

�
 
� !���� @ �� �	� ���	
	� 

����	�B

��� �	���
	��� 
� ��� �����
	��� 

���
��� 
�!	�����
��& �	� ���� ��(#�' �� �� �����
��'

�� ���
���
#� �� �����
��� ��-	������ � ��	������ �
������' 	 � � ����	� �� �	�  �� �	�

���	
	� 
� ���	%
���
#� �������� �	������
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	 �%�����
!	 
�� ��	����� 
� �	���	�  �� � �$ ��������	�' �	��
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���
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� 3����� U �� Z' F : [0, T ] × D → Z& ���� ��
� "���
#�

@�	���	�B u : [0, T ] → U - z0 ∈ Z' �	��

������	� �� �
��
���� ��	����� 
� �����-



�73 �� ���, �!" �� 
����� $*

�	�
���� �� Z ⎧⎪⎨
⎪⎩

dz(t)

dt
= Az(t) + F (t, z(t)) + Bu(t), t ∈ (0, T )

z(0) = z0.

@1&14B

*��	����	� ��	��  �� �� ��	����� @1&14B �
��� ��� +�
�� �	���
#� zu(t)' t ∈ [0, T )

���� ��
� u(t) �� ���+� �	�.���	 U 
� �	���	��� �
�
�
����& *��	����	� ����
��  ��

�����	� �� 	�.��
!	 ẑ � �	���� �� �� �
���	 
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	 t = t1' 0 < t1 < T & �� 	����

��������' ���	����	�  ��  �����	� �	����  �� ��� ����� 	����!�
� Czu(t1) 
�� ����
	 z


����
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� u' �� �� �
���	 t = t1' ��� 
���� �� 	�.��
!	 ẑ& ���� ��	����� �� 
��	�
��
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� �� ������� 0��
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#� �	������� �� �� �
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�$� ����
��  �� �	 �%
��� �� �	���	� u  �� �	��� �� 	�.��
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	 @Czu(t1) = ẑB'
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J(u) =
1

2
‖Czu(t1) − ẑ‖2

Y
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#� u ∈ U  �� ����
(� �� �$�
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�� ��	����� ���
�� �������
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@�B *
 ��� �$�
�	 �%
���' I�� ������  �� J(u) = 0J �� 
��
� I�� �	��� Czu(t1) = ẑJ
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� ����	��
������
#� 
�� ����
	

u(t) = Kz(t) �	��� �� 	�.��
!	J @��������������� 
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(λI − A)δ

)
, ‖·‖δ
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=∥∥(λI − A)δz
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9�: '(����� δ ∈ (0, 1) � θ ∈ (0, 1] ��� ��� F : Q× [0, T ]×Zδ → Z �� �����
���� -�
������

�������� �� t � z$ �� �����$ 
��� ���� q ∈ Q � ���� ���*���� ������� U �� [0, T ]×Zδ

�(���� ��� ��������� L = L(q, U) ��� ���

‖F (q, t1, z1) − F (q, t2, z2)‖Z ≤ L
(
|t1 − t2|θ + ‖z1 − z2‖δ

)
,


��� ���� (ti, zi) ∈ U $ ����� �� ��������� L 
���� �������� ����
�������� �� q ��

��������� ��

���� QC �� Q&

�� �
��
���� ��	���� 
� �%
�����
� 
� �	���
	��� ���� �� �����
#� 
� �!	���
#� @1&11B

�� �
��� 
���

�������� 
�� ��	���� 1&64 - �� �� ����

�
 ��� ������
���� 
�� �
��	

�
����
� � �� �
����
#� ������&
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����!" $7� ��
����
�� ��� F �����"��� �� ��
	����� 9�: 
��� ���5� δ ∈ (0, 1) �

θ ∈ (0, 1]& '�������$ 
��� q ∈ Q � z0 ∈ Zδ$ �(���� t1 = t1(q, z0) > 0 ��� ��� @1&11B

����� ��� 5���� ������	� �� [0, t1)& '� �����$ �(���� ��� "����	� z(· ; q) ∈ C ([0, t1) : Zδ)∩
C1 ((0, t1) : Z) ��� �����"��� �� ������	� ��������

z(t; q) = T (t)z0 +

∫ t

0

T (t − s)F (q, s, z(s; q)) ds, 
��� ���� t ∈ [0, t1).

���
��$ t1(q, z0) > 0 
���� �������� ����
�������� �� q �� ������*����� ��

����� �� Q&

�� ���	�
��	 
� ����
�
����
(��
#�  �� �����������	� � �	��
����
#� �� ��� �����
� 
�

���	�
��	 
� ��H�	�' �� �� ����

	  �� �� �� ���	 
�� �
��	 �� �������(� z(t; q) �	�

��� M���	%
���
#� 
� ��-�	�N 
� ��
��� 	�
�� �	� �������	 �� ��������	 	 !��
���� q&

���� �	 ���� ���� �������
	 
�)�
� ��
���	  �� �� ���
��
� �	� M�� 
��
!�
� 
� z(t; q) �	�

�������	 � qN' 
�
	  �� q �� ��� !��
���� �� �� �����
	 
� 3����� - z(t; q) �� �� �������	


� 	��	 �����
	 
� 3�����& �� �	� ��	  �� ����� 
� ��������� �� ���	�
��	' 
���	
��
�	�

� �	��
����
#� �� �
��
���� 
�)�
�
#� 
� 
��
!�
� 
� �������&

��'������ $7$ ��
����
�� ��� X � Y ��� ��
����� �� )�����$ B �� �� ������*����

������� �� X � F : B → Y & +���
�� ��� F �� ��������� ��7���� �� x0 ∈ B �� �(����

Λ ∈ L(X, Y ) ��� ���

lim
h→0

‖F (x0 + h) − F (x0) − Λh‖Y

‖h‖X

= 0.

'� �
������ Λ �� ���
� ���
!�
� 
� ������� �� F �� x0 � �� ������ ��� DxF (x0) � ����

Fx(x0)&

�	��

����	� ��	�� �� ��	����� 
� 

���
)���
#� 
� ��������	� @��B �������
	 �� ��

*���
#� 1&5& �� 
��
�' ���	����	�  �� �	����	� ��

�
	��� ẑi 
�� �
����� "$�
�	 
����
��	

�	� �� �E� @1&11B �� �
���	� 

�����	� ti' i = 1, 2, . . . , m& *��	����	� ����
��  �� ��

�	�.���	 
� ��������	� �
�
�
����Q �� �� ����	�.���	 ��
���	 
�� �����
	 
� ��������	�

Q̃'  �� �%
��� q∗ ∈ Q  �� �
�
�
(� J(q) �	��� Q' - ���� �	
	 q ∈ Q' �� �	���
#� z(t; q)



$7� ���#���"���� �� 	 1����!� �� 
�"#� ���" �2"���� $5


�� �E� @1&11B �%
��� �� �� 
����!��	 [0, T̃ ]' 
	�
� T̃
.
= max

1≤i≤m
ti&

���� 
��
!�� �� ���	�
��	 
� 

���
)���
#� ���	����	� �	� �� �	����	  �� ����

��
� t ∈ [0, T̃ ] ).	' �� ����	 q → z(t; q) �� 

"�����
���� ������� @�� �� ���$���	 6 ��

����������� �	�

�
	��� ��)�
����� �	��� F ����  �� �� ������ ���� �
�#���
�B&

��	�	���	� �� �
��
���� ���	�
��	0 ����
� �� ���
��
	� 
�
�
�� q0 ∈ Q' ����� k = 0 -

����
(�� �	� �
��
����� ���	�0

�"#� �8 ��
	 �� ���
��
	� qk 
� q∗' ���	%
��� z(t; q) �	� �� �%����
#� 
� ��-�	� 
� ��
2

��� 	�
�� �� q ����
�
	� 
� qk' �� 
��
�' 
�)�
� zk+1(t; q) = z(t; qk)+zq(t; q
k)(q−

qk) 
	�
� zq(t; q
k) 
��	�� �� 
��
!�
� 
� ������� 
� z(t; q) �	� �������	 � q ��

qk&

�"#� $8 ��)�
� �� ��������� �� ����� 
�������� Jk(q) �	�	0

Jk(q)
.
=

1

2

m∑
i=1

∥∥Czk+1(ti; q) − ẑi

∥∥2

Y
@4&1B

=
1

2

m∑
i=1

∥∥C [z(ti; q
k) + zq(ti; q

k)(q − qk)
]− ẑi

∥∥2

Y
. @4&4B

�"#� *8 ��)�
� qk+1 �	�	 �� !��	� 
� q ���� ��  �� �� �����(� �� �$�
�	 
�� ��
���
	


� ���	� �	

)��
	 Jk(q)& ���� ���	����� �"���
!������ qk+1' 

"�����
�� @4&4B'


������ �� �������
	 � ���	 - ���	�!�� ���� q& �
��������' ������ qk+1 � ����

�	���
#�' �������(�� k �	� k + 1 - �����
� �� ���	 1&

�� ���	�
��	 
����
��	 ���
�� �������� ��� "	��� 
� 	������' � ����
� 
� �� ��������	

qk ∈ Q' �� ��������	 qk+1  �� �� ��
��
�
	 �	
�$� �	 ���������� �� �	�.���	 
� ������2

��	� �
�
�
���� Q& ���� �!
��� ���� ��	�����' ���	� �������	  �� �� ��������	 #��
�	

q∗ �� �� ����	 
����
	� 
� Q 

�
��
	  �� Q �� �� ����	�.���	 ��
���	 
� Q̃& 3�.	 ����

�
�#���
� ���
� ��	����� @!�� *���
#� 4&4B  �� �
 �	���(��	� �� ���	�
��	 
�����
!	 �	�

�� ��������	 q0 ��)�
��������� ������	 � q∗' ���	���� �	
�� ��� 
�����
	��� ��	
��
���

��������	� qk �� �� ���	��	 
� q∗ �	����

	 �� Q&



*6 �� �%���� ������� &"�"  " ������'�"���� �� �"�(!����#

=����!��  ��' � ���	�  �� zq(ti; q
k) = 0 ���� �	
	 i = 1, 2, . . . , m' �� "���
	��� Jk(q)

�� ����
�������� �	�!�%	' �	� �	 ����	 �%
��� ��� +�
�� �	���
#� � �� �����
#� DqJ
k(q) = 0

- ���� �� �
�
�
(���� ��	��� 
� Jk(q)& *
 
��
!��	� �� �%����
#� @4&4B 	������	�  ��

���� �	
	 h ∈ Q̃'

DqJ
k(q)h =
m∑

i=1

〈
Dq

{C [z(ti; q
k) + zq(ti; q

k)(q − qk)
]− ẑi

}
h, C [z(ti; q

k) + zq(ti; q
k)(q − qk)

]− ẑi

〉
Y

���� ���	� �������	  �� Y �� �� �����
	 
� D
����� ����& /���	' ���� �	
	 h ∈ Q̃

DqJ
k(q)h =

m∑
i=1

〈Czq(ti; q
k)h,

[Cz(ti; q
k) + zq(ti; q

k)(q − qk)
]− ẑi

〉
Y

.

�	� �	 ����	' �� �	�

�
#� DqJ
k(q) = 0 �� ���
�"��� �
 - �#�	 �


m∑
i=1

〈Czq(ti; q
k)h, Czq(ti; q

k)(q − qk)
〉

Y
= −

m∑
i=1

〈Czq(ti; q
k)h, Cz(ti; q

k) − ẑi

〉
Y

@4&6B

���� �	
	 h ∈ Q̃&

*��+� �� �����
#� @4&6B' ���� 
�����
��� qk+1 
����	� ���	�!�� �� �+���	 
�)�
�	 
�

�����
	��� @��� ���� ��
� h ∈ Q̃B& ��� �� ���� �����
#� 
�����
�� qk+1' �	 �� �	�
���

�������� qk+1 � ����
� 
� �� �
���& *
� ������	' �
 ���	���	�  �� Q̃ �� �� �����
	 
�

D
����� ���������' ���� �	��� ��� ���� 	��	�	���� ��������� {gj : j = 1, 2, . . .} - ���	����
�� �����
#� @4&6B � �
!��� �

m∑
i=1

〈Czq(ti; q
k)gj, Czq(ti; q

k)(q − qk)
〉

Y
= −

m∑
i=1

〈Czq(ti; q
k)gj, Cz(ti; q

k) − ẑi

〉
Y

	' �	  �� �� �	 �
��	'

m∑
i=1

〈
gj,
[Czq(ti; q

k)
]∗ Czq(ti; q

k)(q − qk)
〉

Y
= −

m∑
i=1

〈
gj ,
[Czq(ti; q

k)
]∗ (Cz(ti; q

k) − ẑi

)〉
Y

@4&7B

���� �	
	 j = 1, 2, . . . ' �	  �� �	���
��-� �� �	�.���	 ��
������ 
� �����
	���&

�	�	 {gj} �� ��� ���� 	��	�	����' �� ��������	 q ∈ Q̃ �
 - �#�	 �
 �%
��� ��� +�
��

�����
#� α = {αi}∞i=1 ∈ �2 ���  �� q =
∑∞

j=1 αjgj ' - �
���� ‖q‖Q̃ = ‖α‖
2& �	� �	 ����	'



$7� ���#���"���� �� 	 1����!� �� 
�"#� ���" �2"���� *�

�� ���	�
��	 ���� �� 

���
)���
#� 
� ��������	� ���
� ��� ��"	�����
	 �� ����
�	� 
�

��� �����
	��� α 
� �	�)�
����� 
� q �	�	 �
���& ��)���	� �2 (Q)
.
=
{
α ∈ �2 : qα =∑∞

j=1 αjgj ∈ Q}' - 
�
	 αk ∈ �2(Q) @qk ∈ QB 
�����
��� αk+1 ∈ �2(Q) ���	�!
��
	 @4&7B

���� q&

��� ����
�������' ���� ��
� α' 
��	���	� �	� qα � �� �%����
#�
∑∞

j=1 αjgj ' - ���

D(α)γ
.
=

m∑
i=1

M(ti; qα)∗ [M(ti; qα)γ] , γ ∈ �2, @4&8B


	�
� ���� ��
� q ∈ Q' t ∈ [0, T ]' M(t; q) : �2 → Y ���������� �� 	����
	� M	����!��
#�


� �� 
��
!�
� 
� �������N �� �� ���� {gj} 
� Q̃  �� �� 
�)�� �	�

M(t; q)α
.
=
[Czq(t; q)g1 Czq(t; q)g2 · · · ]

⎡
⎢⎣
α1

α2
&&&

⎤
⎥⎦ = Czq(t; q)qα

- M(t; q)∗ : Y → �2 
��	�� �� 	����
	� �
.���	 
� M(t; q)&

�	� ���� �	���
#�' �� 
�
��� "��
������ � ����
� 
� @4&7B  �� αk+1 ���
� ����������

�	�	

αk+1 = αk − [
D
(
αk
)]−1

m∑
i=1

M(ti; qαk)∗ [Cz(ti; qαk) − ẑi]

.
= E

(
αk
) @4&9B

�
�����  �� �%
���
[
D
(
αk
)]−1

&

����������' �� �� ���� 
�����
!	 
�)�

	 �	� @4&9B �	 ���
� 
������������ 
��

	

�  �� �� �����
	 
� ��������	� �� 
� 

����
#� 
�)�
��& *
� ������	' �
 �����	�  �� ��

�
�
�
(���� q∗ ��������� � ���+� ��������
	 
� 

����
#� )�
�� Q̃s ⊂ Q̃' 	 �
 ������	

	�.��
!	 �� 
�����
��� �� �
�
�
(���� qs∗ 
� J(q) �� �� ��������
	 
� 

����
#� )�
��

Q̃s  �� 
� ���+� �	
	 ���	%
�� �� �����
	 Q̃' ���	���� �� "��
� �	

)��� �� ���	�
��	

��	�����	 ���!
������& �� �������
	 �� �� ���	�
��	 �� 

����
#� )�
�� ���"���������


������������&

�� �"���	' ���	����	�  ��  �����	� ���	����� �� �
�
�
(���� qs∗ ∈ Q ⊂ Q̃s' 
	�
�

Q̃s �� �� ��������
	 
� 

����
#� )�
�� 
� Q̃' �	� ���� 	��	�	���� {gj : j = 1, 2, . . . , s}&
��
	 �� ���
��
	� qs,k ∈ Q̃s 
�� �
�
�
(���� qs∗ ∈ Q' ��	��
��	� 
�� �
��	 �	
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��  �� �	 �
�
�	� �	� �����
	�

�
' ���	 ��

�	� � qk+1,s  �� ���
�"��� @4&7B �#�	 ����

j = 1, 2, . . . , s&

��	�� �
��' �� ��������	 q ∈ Q̃s �
 - �#�	 �
 �%
��� �� +�
�	 !���	� α = (α1, α2, . . . , αs) ∈
R

s ���  �� q =
∑s

j=1 αjgj' - �
���� ‖q‖Q̃ = |α| =
(
Σn

j=1α
2
j

)1/2
& �	� �	 ����	' �� ���	�
��	

���� �� 

���
)���
#� 
� ��������	� ���
� ��� ��"	�����
	 �� ����
�	� 
� �	� !���	��� α


� �	�)�
����� 
� q �	�	 �
���& ��)���	� Rs (Q)
.
=
{
α ∈ Rs : qα =

∑s
j=1 αjgj ∈ Q}' -


�
	 αk ∈ Rs(Q) @qk ∈ QB 
�����
��� αk+1 ∈ Rs(Q) ���	�!
��
	 @4&7B �� q&

����	������� � �	�	 �� �
(	 �� �� ���	 
� 

����
#� 
�)�
��' 
��	���
	 �	� qα ��

�������	
∑s

j=1 αjgj 
� Q̃s' @α ∈ RsB - 
�)�
��
	 �� 	����
	� �
���� D(α) : Rs → Rs �	�

D(α)γ
.
=

m∑
i=1

M(ti; qα)∗ [M(ti; qα)γ] , γ ∈ R
s,


	�
� ��	��' ���� ��
� q ∈ Q' t ∈ [0, T̃ ]' M(t; q) : R
s → Y �� 
�)�� �	�

M(t; q)α
.
=
[Czq(t; q)g1 Czq(t; q)g2 · · · Czq(t; q)gs

]
⎡
⎢⎢⎢⎣

α1

α2
&&&

αs

⎤
⎥⎥⎥⎦ = Czq(t; q)qα

- M(t; q)∗ : Y → Rs 
��	�� �� 	����
	� �
.���	 
� M(t; q)' 	������	� �� �� ����


�����
!	 �
��
����0 ��
	 αk ∈ Rs' �������� αk+1 ∈ Rs �	�	

αk+1 = αk − [
D
(
αk
)]−1

m∑
i=1

M(ti; qαk)∗ [Cz(ti; qαk) − ẑi]

.
= E

(
αk
) @4&5B

�
�����  �� �%
���
[
D
(
αk
)]−1

&

�,#��."����8 D��	� ��
�
(�
	 �� �
��� �	���
#� ���� 
�)�
� M(t; q)' D(α) - E(α)'

����	 ���� �� ���	�
��	 �� 

����
#� 
�)�
�� �	�	 ���� �� ���	�
��	 �� 

����
#� )�
��&

/� ��(#� �	� �� ���� ���	� ����	 ���	 �� �	� �� �	� �������
	� 
� �	�!������
�  ��


����	� �� �� ��#%
�� ����
#� ���������� !��

	� 
�
����

��������� 
� �� 

����
#�


�� �����
	& �� �� ��#%
�� ����
#� �����������	� �	� �������
	� 
� �	�!������
� ���� ��

���	 
� 

����
#� 
�)�
��' ���	 ��� �	

)���
	��� ���� �	�������� �� ���	 
� 

����
#�

)�
�� �	� �	������� �����
#� 
� �	���
#� @����
�� �2(Q) �	� Rs(Q)B' - �	 �� �������
	

����� 

��
��
	��� ����� ���	� 
	� ���	�&
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��� !����� ����� 
�� �� ������ 
� !��	��������#���
�

�� ���� ����
#� ����

����	� �� �	�!������
� 
�� ���	�
��	 ��������
	 �� �� ����
#� ��2

���
	�& �����������	� 
	� �������
	�  �� ��	!��� �	�

�
	��� ��)�
����� ����  �� ��

���	�
��	 �	�!��.�& �� �� ��
���	 
� ���	� ���	�
���	�  �� �%
��� �� ��������	 q∗  ��

���
�"��� J(q∗) = 0 @�
�#���
� 
� �.���� �%���	B' - �� �� �����
	 �������
	 �������(����	�

���� �
�#���
� �	� ��� ��� 
��
� @
��	� �	� ���	��� 
� ��

�
#�B&

����� 
� ��������� ���	� �������
	� ����� �������
	� 
	� ����� ����
�
�����& ��

�� ��
���	 
� ���	�' �� �
�#���
� ��
��
��� �� ��)��� � �� 
��
!�
� 
� ������� 
�� ��2

��	 q → z(t; q) 
� Q �� Zδ @���� t ).	B& *
 ���� 
��
!�
� �%
���' ���	���� ���
�"���

zq(t; q) ∈ L(Q̃, Zδ) @!�� ��)�
�
#� 4&4B' ���	 �	�	 Zδ ���� �	��
�������� 
�����	 ��

Z @!�� ��	���� 1&49@�BB' �� �
���  �� L(Q̃, Zδ) ⊂ L(Q̃, Z) - �	� �	 ����	' ����
��

zq(t; q) ∈ L(Q̃, Z)&

��!" $7* ��� t ∈ [0, T̃ ] �*� � ��� M(t; q) ��
� �� �����	 �� �� �����	� ��������& ��

�� 
�
�� q → z(t; q) �� Q → Zδ ����� �������� �� ��7���� zq(t; q) �����
���� -�
������

�������� ��
� "����	� �� Q → L(Q̃, Z)$ �������� �� 
�
�� α → M(t; qα) �� ��
��7�

�����
���� -�
������ �������� �� �2(Q) → L(�2, Y )& 1�� 
������
����$ 
��� ���� α ∈
�2(Q) � t ∈ [0, T̃ ]$ �(����� ���������� 
�������� � ������ ηα � Lα ��
��������� �� α � �� t

����� ���

‖M (t; qα) − M (t; qα̃)‖L(
2,Y ) ≤ Lα ‖α − α̃‖
2 , 
��� ���� α̃ ∈ B(α, ηα),

����� B(α, ηα)
.
= {β ∈ �2 : ‖α − β‖
2 < ηα}& '� 
��
� ��������� �� ��

�� 
��� �� 
�
��

α → M(t; qα)∗&

+�
�������	�& *�� t ∈ [0, T̃ ] ).	& �	� �
�#���
�' ���� �	
	 α ∈ �2(Q) �%
���� ηα > 0' -

Lα �����  ��

‖zq(t; qα) − zq(t; qα̃)‖L(Q̃,Z) < Lα ‖qα − qα̃‖Q̃ , ���� �	
	 α̃ ∈ B(α, ηα).



*- �� �%���� ������� &"�"  " ������'�"���� �� �"�(!����#

*� �
��� ���	����  ��

‖M (t; qα) − M (t; qα̃)‖L(
2,Y ) = sup
γ∈
2

‖γ‖=1

‖[M (t; qα) − M (t; qα̃)] γ‖Y

= sup
γ∈
2

‖γ‖=1

‖Czq(t; qα)qγ − Czq(t; qα̃)qγ‖Y

≤ ‖C‖L(Z,Y ) sup
γ∈
2

‖γ‖=1

{
‖zq(t; qα) − zq(t; qα̃)‖L(Q̃,Z) ‖qγ‖Q̃

}

≤ ‖C‖L(Z,Y ) Lα ‖qα − qα̃‖Q̃
= ‖C‖L(Z,Y ) Lα ‖α − α̃‖
2 = Lα ‖α − α̃‖
2

���� �	
	 α̃ ∈ B(α, ηα)& ❏

�� �
��
���� ���� ��
�
(� �� �������
	 
�� ���� �����
	� ���� 
��	�����  �� ��.	 ���

�
���� �
�#���
�' �� ����	 α → D(α) �� /
����
�( �	��
��	' �	  �� ���� �����
�� ����

�� 
��	�����
#� 
� �	� �������
	� 
� �	�!������
� 
�� ���	�
��	 
� ����
�
����
(��
#�

��	�����	 �� �� *���
#� 4&1&

��!" $7- )�*� ��� 
��
�� ��
	����� ��� -�
� 8&<$ �� 
�
�� α → D(α) �� �����
����

-�
������ �������� �� �2(Q) → L (�2, �2)&

+�
�������	�& �� �� 
�)�
�
#� 
� D(α)' �� �
���  �� �
 α, α̃ ∈ �2(Q) - γ ∈ �2' ���	����

[D(α) − D(α̃)] γ =
m∑

i=1

M(ti; qα)∗M(ti; qα)γ −
m∑

i=1

M(ti; qα̃)∗M(ti; qα̃)γ

=

m∑
i=1

M(ti; qα)∗ [M(ti; qα) − M(ti; qα̃)] γ

+
m∑

i=1

[M(ti; qα)∗ − M(ti; qα̃)∗] M(ti; qα̃)γ,

- �� �������
	 �� �
��� 
���

�������� 
�� /��� 4&6& ❏

����� 
� �����
�� �	� �������
	� ��
��
����� �	� �����
#� � �� �	�!������
� 
�� ���	�
�2

�	 
� ����
�
����
(��
#� @��B' ���� �������
	 
���	
��
� �� �	�����	 
� 
���� �� �������	�&

� �	��
����
#� �� 
� �� 
�)�
�
#� - ��� �	�

�
#� ��)�
���� ����  �� �� 
�����
#� 
� ��

����	 �� �� �����
	 
� 3����� ����� �� ����	 
� ������
#�&



$7$ 
��.��1����" �� 	 1����!� �� 
�"#� ���" �2"���� *)

��'������ $7) ��� U �� ������*���� ������� �� �� ��
���� �� )����� X � E : U ⊂
X → X& �� ���� ��� x∗ �� �� 
���� �� �������	� �� �� �������	� xk+1 = E(xk) �� �(����

�� ������� S �� x∗ ��� ��� S ⊂ U � 
��� ���� x0 ∈ S$ ��� ����������� xk ∈ U 
��� ����

k ≥ 1 � xk → x∗ ������ k → ∞&

��!" $70 9
����!" �� ����� ��C�: ��� U �� ������� �� �� ��
���� �� )����� X$

E : U ⊂ X → X$ x∗ ∈ U � ��
����
�� ��� �(����� ��� ���� B = B(x∗, η) ⊂ U � ���

��������� α ∈ (0, 1) ��� ���

‖E(x) − x∗‖ ≤ α‖x − x∗‖, 
��� ���� x ∈ B.

'������� x∗ �� �� 
���� �� �������	� �� �� �������	� xk+1 = E(xk)&

+�
�������	�& *
 x0 ∈ B' �� �
���  �� ‖x1 − x∗‖ = ‖E(x0) − x∗‖ ≤ α‖x0 − x∗‖' �	� �	
 �� x1 ∈ B& �	� 
�
���
#� ‖xk+1 − x∗‖ = ‖E(xk) − x∗‖ ≤ α‖xk − x∗‖ ≤ αk+1‖x0 − x∗‖
- αk+1‖x0 − x∗‖ → 0 ����
	 k → ∞& ❏

� �	��
����
#� ���������	� �� ��
��� �������
	 
� �	�!������
� 
�� ���	�
��	&


����!" $74 9
��.��1����" �� 	
 ���  " B�&���#�# �� "C�#�� �/"���: ��
���

��
�� ��� �� ��

�� �� ��
	����� ��� -�
� 8&<& ��
����
�� ��
��7� ��� �(����� ��

������� U ⊂ �2(Q) � α∗ ∈ U ����� ��� �(���� D (α∗)−1 � J(qα∗) = 0& ��� E �� 
�
��

������� 
�� @4&9B& '�������$ 
��� ���� ε > 0$ �(���� ��� ��������� δ > 0$ ��
��������

�� ε � α∗ ��� ��� ‖α − α∗‖
2 < δ �

����

‖E(α) − α∗‖
2 ≤ K ‖α − α∗‖2

2 + ε ‖α − α∗‖
2 ,

����� K �� ��� ��������� ��� ��
���� ����
���� �� α∗ .�� �� ε/& '� 
���������$ α∗ ��

�� 
���� �� �������	� �� �� �������	� αk+1 = E(αk)&

+�
�������	�& �	� 
�)�
�
#� @!�� @4&9BB

E(α) = α − D (α)−1
m∑

i=1

M(ti; qα)∗ [Cz(ti; qα) − ẑi]



*0 �� �%���� ������� &"�"  " ������'�"���� �� �"�(!����#

�
�����  �� D (α)−1 �%
���& *� �
��� ���	����  ��

E(α) − α∗ = α − D (α)−1
{ m∑

i=1

M(ti; qα)∗ [Cz(ti; qα) − ẑi]
}
− α∗

= D (α)−1
{
D(α) (α − α∗) −

m∑
i=1

M(ti; qα)∗ [Cz(ti; qα) − ẑi]
}

= D (α)−1
{ m∑

i=1

M(ti; qα)∗ [M(ti; qα)(α − α∗) − Cz(ti; qα) + ẑi]
}


	�
� �� +��
�� 
��
����
�
 �� �
��� 
� �� 
�)�
�
#� 
� D(α) @!�� @4&8BB& /���	

E(α) − α∗ = D (α)−1
{ m∑

i=1

M(ti; qα)∗ [M(ti; qα) − M(ti; qα∗)] (α − α∗)
}

− D (α)−1
{ m∑

i=1

M(ti; qα)∗ [Cz(ti; qα) − Cz(ti; qα∗) − M(ti; qα∗)(α − α∗)]
}

− D (α)−1
{ m∑

i=1

M(ti; qα)∗ [Cz(ti; qα∗) − ẑi]
}
.

�	�	 J(qα∗) = 0' Cz(ti; qα∗) = ẑi' ���� �	
	 i = 1, 2, · · · , m - �� ������ ����
�	 
�� ��
	


�����	 �� 
���� � ���	& �
����' �	�	 D (α∗)−1 �%
��� �	� �
�#���
�' �	� �	��
��

�


����
�� �%
���� �	�������� �	�
�
!�� δ1 - D' 
����

����� 
� α∗ �����  �� D(α) �� 
�!��2

�
��� ���� �	
	 α ∈ B(α∗, δ1) - ‖D(α)−1‖ ≤ D ���� �	
	 α ∈ B(α∗, δ1)& ��� /��� 4&6 ��

�
���  �� �%
��� M ���  �� ‖M(ti; qα)∗‖ ≤ M ���� �	
	 i = 1, 2, . . . , m - ‖α − α∗‖
2 < δ1&

�� �	��������
�' ���� �	
	 α ∈ B(α∗, δ1)

‖E(α) − α∗‖
2 ≤ DM
m∑

i=1

‖[M(ti; qα) − M(ti; qα∗)] (α − α∗)‖

+ DM
m∑

i=1

‖Cz(ti; qα) − Cz(ti; qα∗) − M(ti; qα∗)(α − α∗)‖
.
= A + B.

�	� �� /��� 4&6' �%
���� �	�������� )�
��� ηα∗ > 0 - Lα∗ ' �����  �� �
 |α − α∗| < ηα∗ '

���	���� A ≤ DMmLα∗ ‖α − α∗‖2

2 & �
����' �	�	

M(ti; qα∗)(α − α∗) = Czq(ti; qα∗) (qα − qα∗) ,



$7$ 
��.��1����" �� 	 1����!� �� 
�"#� ���" �2"���� *4

�	� �� 
�)�
�
#� 
� �� 
��
!�
� 
� ������� zq(t; q)' ���� �	
	 ε > 0' �%
��� δ2 = δ2(ε, α
∗) >

0 ���  �� ‖α − α∗‖
2 < δ2 @‖qα − qα∗‖Q̃ < δ2B 
���
��

‖Cz(ti; qα) − Cz(ti; qα∗) − M(ti; qα∗)(α − α∗)‖Y ≤ ε ‖qα − qα∗‖Q̃ = ε ‖α − α∗‖
2 ,

i = 1, 2, . . . , m&

C����
��
	' �� �
���  �� ���� �	
	 ε > 0 �%
���� �	�������� )�
��� δ = min {δ1, δ2, ηα∗} >

0 - Lα∗ �����  ��

‖E(α) − α∗‖
2 ≤ DMm
[Lα∗ ‖α − α∗‖2


2 + ε ‖α − α∗‖
2

]

���� �	
	 α ∈ B(α∗, δ)& �	� �� /��� 4&9' α∗ �� �� ����	 
� ������
#� 
� �� 
�����
#�

αk+1 = E(αk)& ❏

�� 
��	������ �	��� � �$  �� �� �� ��	���� 4&5 ����
�	�  �� J(qα∗) = 0' �� 
��
�' ��2

���
�	�  �� �%
��� �� ��������	 α∗  �� �.���� �(����
���� �	� 
��	� 	����!�
	� {ẑi}m
i=1&

�� �� �����
��' ����
	 �� �����.� �� ��	������ ������ 
� 

���
)���
#� 
� ��������	�'

���� �	 �� ��� �
�#���
� ����
���' 
��

	 �  �� ���
�� �%
��
� ���	��� 
� 	����!��
#�'

��

�
#� - �	
���
	& �� �� ��#%
�	 ��	���� �� 
��
�
�� ���� �
�#���
� 
� �.���� �%���	&


����!" $73 9
��.��1����" �� 	
 ��� �"��# �� �/"���#: ��
����
�� ��� ��

��

�� �� ��
	����� ��� -�
� 8&<& ��
����
�� ��
��7� ��� �(���� �� ������� U ⊂ �2(Q)

� α∗ ∈ U ��� ��� D (α∗) �� �� �������� � α∗ = E (α∗) .
���� �*�/& ��� δ1 > 0 �

D
.
= sup

{‖D(α)−1‖ : ‖α − α∗‖
2 < δ1

}
< ∞ ��
� �� �� 0����
� 8&=$ � ��� L �� 
����

��������� ��� �����"���

‖M(ti; qα)∗ − M(ti; qα∗)∗‖ ≤ L‖α − α∗‖
2 , ∀ ‖α − α∗‖
2 < δ1, i = 1, 2, . . . , m.

��
����
�� ���

γ
.
= DL

m∑
i=1

‖Cz(ti; qα∗) − ẑi‖Y < 1, @4&:B

�������� α∗ �� �� 
���� �� �������	� �� �� �������	� αk+1 = E(αk)&



*3 �� �%���� ������� &"�"  " ������'�"���� �� �"�(!����#

�,#��."����8 �� ��� �
�#���
� 
�� ��	���� 4&: �	 �� �

�  �� Cz(ti; qα∗) = ẑi ����

�	
	 i = 1, 2, . . . , m& *
� ������	' ���� �	
�� �������� �� �	�!������
� �� �������
	

 �� Cz(ti; qα∗) ���� ����� 
� ẑi �� ���+� ����

	& ���� ����

	 ���� 
�
	 �	� �� 
��
����2


�
 @4&:B& �� 	���� ��������' �� �����
�
	 
�� ��	���� 

��  �� ��	 ���
� �	����� ���	���

�� �	��� ��� ��

�
	��� �%���
��������' ���	  �� ���� �	
�� ����
(�� �� 

���
)���
#� 
�

�	� ��������	�' ��	� ���	��� 
���� ��� �� ��,	�&

+�
�������	�& *
��
��
	 �	� �
��	� ���	�  �� �� �� 
��	�����
#� 
�� ��	���� 4&5' ��

!�  �� 
�
	 ε > 0 �%
���� δ = δ(ε, α∗) > 0 - M = M(α∗) �����  ��

‖E(α) − α∗‖
2 ≤ DMm
[L‖α − α∗‖2


2 + ε ‖α − α∗‖
2

]
+
∥∥∥D (α)−1

m∑
i=1

M(ti; qα)∗ [Cz(ti; qα∗) − ẑi]
∥∥∥, @4&<B

���� �	
	 α ∈ B(α∗, δ)' 
	�
� �� �����
	 �����
	 ������� �	� �� ��	�� �	 �����	�

���	�
��
	 J(qα∗) = 0&

�	� 	��	 ��
	'
m∑

i=1

M(ti; qα∗)∗ [Cz(ti; qα∗) − ẑi] = 0, @4&1>B

����' �	� �
�#���
�' D(α∗) �� �	 �
������ - α∗ = E(α∗)& �	��
���
	 @4&<B - @4&1>B

	������	�

‖E(α) − α∗‖
2 ≤ DMm
[L‖α − α∗‖2


2 + ε ‖α − α∗‖
2

]
+ D

∥∥∥ m∑
i=1

[M(ti; qα)∗ − M(ti; qα∗)∗] [Cz(ti; qα∗) − ẑi]
∥∥∥

≤ DMm
[L‖α − α∗‖2


2 + ε ‖α − α∗‖
2

]
+ DL‖α − α∗‖
2

m∑
i=1

‖Cz(ti; qα∗) − ẑi‖

= DMm
[L‖α − α∗‖2


2 + ε ‖α − α∗‖
2

]
+ γ ‖α − α∗‖
2


	�
� γ < 1 �	� �
�#���
�& ���	 �	����-� �� 
��	�����
#� 
�� ��	����& ❏

��" ���	������
� !�0	��� 
�� �!

�� �� �
�������� ����
�� F14' 4:G �� ���	�
��	 
� ����
�
����
(��
#� �� �������� 
� ���

������ ��- 

"������ � �� "	��� ��  �� "�� 
���	
��

	 � �$& �	� ��(	��� 
� �	�����
��
'
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 (#��" �� 	
 *5

���������	� ���!������ ���� 	��� "	��� 
� 
���	
��
� �� ���	�
��	& � ����� 
�  �� �

��
���� !
��� �	� ���	
	� ���
�� ������� �	����������� 

"�������' �	�������	�  ��

���	� �	�
���� �� �
��	 ��	���	 
�����
!	&

*��	����	� �	� �� �	����	  �� �� ����
�	 �	�
���� F (q, t, z) 
� @1&11B �� 

"����2

�
���� ������� �	� �������	 � q - � z& ��
� ��� ���
���
#� qk ∈ Q 
�� ��������	

#��
�	 q∗ ∈ Q' 
�)�
�	� zk(t) = z(t; qk) - �
����
(��	� �� ��	����� @1&11B ����
�
	� 
�(
qk, zk(t)

)
& ���	 �	� 
� �� �
��
���� �E�⎧⎪⎪⎪⎪⎪⎪⎪⎪⎨

⎪⎪⎪⎪⎪⎪⎪⎪⎩

dz(t)

dt
= Azk(t) + F (qk, t, zk(t))

+ Fq

(
qk, t, zk(t)

)
(q − qk)

+ A
(
z(t) − zk(t)

)
+ Fz

(
qk, t, zk(t)

)(
z(t) − zk(t)

)
z(0) = z0

@4&11B

� �	��
����
#�' 
�)�
�	� zk+1(t; q) �	�	 �� �	���
#� 
�� ��	����� @4&11B - ����
�	� qk+1

�	�	 �� �
�
�
(�
	� 
�� ��
���
	 
� ���	� �	

)��
	

Jk(q)
.
=

1

2

m∑
i=1

∥∥Czk+1(ti; q) − ẑi

∥∥2

Y
.

=����!��
	 �� ��	����� @4&11B !��	�  �� v(t) = zk+1(t; q)− zk(t) �� ��� �	���
#� 
��

�E� �
���� �	 �	�	����	⎧⎪⎨
⎪⎩

dv(t)

dt
= Av(t) + Fq

(
qk, t, z(t; qk)

)
(q − qk) + Fz

(
qk, t, z(t; qk)

)
v(t),

v(0) = 0.

@4&14B

/� �����
#� 

"�����
�� �� @4&14B �� �	�	�� �	�	 ������	� �� ������������ ��	�
�
� ��

��	����� 
� 

���
)���
#� @��B& �� �� *���
#� 6&1 !����	�  �� ��.	 �
����� �	�

�
	���

�	��� �� 	����
	� A - �� "���
#� F ' �������  �� �� �	���
#� 
�� �E� @4&14B v(t) �� ��


��
!�
� 
� ������� 
� z(t; q) �	� �������	 � q �!����
� �� qk ���
��
� � (q−qk)' �� 
��
�'

v(t) = zq(t; q
k)(q − qk),

�	 ���� 
���
��  ��

zk+1(t; q) = z(t; qk) + zq(t; q
k)(q − qk).
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/���	' �� ��
���
	 
� ���	� �	

)��
	 �������

Jk(q) =
1

2

m∑
i=1

∥∥C [z(t; qk) + zq(t; q
k)(q − qk)

]− ẑi

∥∥2

Y
.

 �� �� �� �
��	 ��
���
	 
� ���	� �	

)��
	  �� �� 	���!	 �� �� *���
#� 4&1&

�	�	 �	
��	� !��' �� ���������
#� ����
�� �� ���	�
��	 
� ����
�
����
(��
#� �� ����

�� �� �����������	� ��� �>? 
�
�
�� ����
�
	� 
� �� �	���
#� �	�����	�

���� �� ��������	


� �� 
�����
#� ������ - �� 
��
!��
#� �� �
��� 
�� �	�	�
�
���	 ���!
	 
� �� �����
#�


� ����
�
�

�
 @4&14B& �	� 	��	 ��
	' �� ���	
	 
���	
��

	 �� �� *���
#� 4&1 �� ����

�
��������� �� �� �����������	� �� �� ������	� ��� �>? ����
�
	� 
�� ��������	 - ���� ��


��
!��
#� 
�� ���	�
��	 �	 "���	� �������
�� ��� �����
	��� 
� ����
�
�

�
& �� 
��	�2

����� ��,����' �
� ������	'  �� ���� �� 
����������
#� �	������
	��� 
� ���	� ���	
	�

�� ��
�
(�� ��� 
��
!�
�� 
� ��� �	���
	��� �	� �������	 �� ��������	 - �� �	��������
�'

�� �	���
#� 
�� �E� @4&14B&



�
������ !

�	"����
	
#	�	�
� 
�� �����
�� 

�
� ������

�� �� ���$���	 �����
	� !
�	�  �� ��� �	�

�
#� ��)�
���� ����  �� �� ���	�
��	 
� ���2

�
�
����
(��
#� �	�!��.� ��  �� �%
��� �� 
��
!�
� 
� ������� zq(t; q) 
�� ����	 q → z(t; q)


� Q �� Zδ' -  �� �
����' �� ����	 q → zq(t; q) ��� �	�������� /
����
�( �	��
��	 �	�	

"���
#� 
� Q �� L(Q̃, Z)& �� ���� ���$���	 ���	�������	� �	�

�
	��� ��)�
����� �	���

�	� 	����
	���  �� 
�)��� �� ��	����� 
� !��	��� 
�
�
���� @1&11B ����  �� ��� �	���
	2

��� ������� �	� ����� �
�#���
�& �����$)�������' �� �� *���
#� 6&1 !����	� �	�

�
	���

��)�
����� ����  �� �� �	���
#� z(t; q) ��� 

"�����
���� ������� - �� �� *���
#� 6&4 �%2

�	�
���	� �	�

�
	��� ��)�
����� ����  �� �� 
��
!�
� zq(t; q) ��� /
����
�( �	��
��� �	�

�������	 �� ��������	 q&

�� ��	����� 
� �� 

"�����
��
�

�
 �	� �������	 � ��������	� �� �

	 ����

�
	 ����2

�
	������ ���	 �� �	���%�	� 

"������� 
��  �� �	� 
������� �� ���� �����.	& �� 1<55' ����R

- ;
��	� F4>G ����
(��	� ���� ��	����� 
� 

"�����
��
�

�
 �� �� �	���%�	 
� ��	������


� �����- ��������	� �
������ 
�� �
�	

dz(t)

dt
= A(q)z(t) + u(t), z(0) = z0


	�
� A(q) �� �� ������
	� 
�)�
���
��� 
� �� ���
����	 "���������� �	��
��	 - ���
�

����
�
��� �	�	 A(q) = A + B(q)' �	� B(q) ��	��
	' �� 
��
�' �� ��������	 ������� �� ��

����� ��	��
� 
�� 	����
	� A(q)& ��� �
������' �� 1<:4' 3��H�� F11G ����

# �� �
��	

��	����� ��.	 �
�#���
� ��� 
��
���& � �$ �� ��������	 q �	 �� �����
��
# �	������� �



-$ ��+������",� ��"� ��� ��#&���� " �"�(!����#

�������� �� �� ����� ��	��
� 
�� 	����
	� A(q)& D���� ��	�� ��

� ����

# �� ��	����� 
�

�� 

"�����
��
�

�
 �	� �������	 � ��������	� 
� ��� �	���
	��� 
� ��	������ �	�
������


�� �
�	 @1&11B' 
	�
� �� ��������	 ������� �� �� ����� �	�
����&

"�� �2�	������ 
� �� (�����
� 
� ��3�4�� 
� � 5� 6�7

����� 
� ����
(�� - �%�	��� ��� �	�

�
	���  �� �������� �� 

"�����
��
�

�
 
�� ����	

q → z(t; q) !����	� �	�

�
	���  �� �	� ����
��� �	����
�  �� ��� ����	 �� /
����
�(&

���� �������
	 ���� �������
	 ���� �� 
��	�����
#� 
� � ������& *��	����	� 
� ��	�� ��

�
������  �� ω ∈ R ���� ).	 - ω > sup {Re λ : λ ∈ σ(A)}' - ������	�' ���� δ ∈ (0, 1)' Zδ

�� �����
	 
� 3����� D (−Aω)δ �	� �� �	��� ‖z‖δ =
∥∥(−Aω)δz

∥∥
Z
��� �	�	 �� 
�)�
# ��

�� *���
#� 1&8&


����!" *7� ��
����
�� ��� F (q, t, z) �����"��� �� ��
	����� 9�: 
��������� �� ��

�����	� 8&6$ � ��� �� 
�
�� q → F (q, ·, z) �� Q �� L∞(0, T : Z) �� �����
���� -�
������

�������� 
��� ���� z ∈ Zδ ��� ��������� -�
������ ����
�������� �� z �� ���*����� Zδ�

��������& ���� z0 ∈ Zδ � q∗ ∈ Q$ � ��� t1 = t1(q
∗, z0) > 0 ��� ��� [0, t1) �� �� ���������


�(�
�� �� �(�������� �� �� ������	� z(t; q∗) �� @1&11B& '������� 
��� ���� t′1 < t1$

�(����� ���������� ε > 0 � C > 0 ����� ��� �� ‖q− q∗‖ ≤ ε �������� z(t; q) �(���� �� [0, t′1]

� �����"���

‖z(·; q) − z(·; q∗)‖L∞(0,t′1:Zδ)
≤ C‖q − q∗‖.

'� �����$ �� 
�
�� q → z(·; q) �� �����
���� -�
������ �������� �� �� ������� �� �� �(
���

���� �� �� ��������� �� ���� �����
�&

+�
�������	�& *�� δ ∈ (0, 1) ���  �� �� ������ �� �
�#���
� 9�:& /���	' ���� z0 ∈ Zδ' -

q∗ ∈ Q' �%
��� t1 = t1(q
∗, z0) > 0 ���  �� [0, t1) �� �� 
����!��	 ��%
��� 
� �%
�����
� 
�

z(t; q∗)& �
.��	� 0 < t′1 < t1& ���� ��
� q ∈ Q' ��� tq > 0 ���  �� z(t; q) �%
��� �� [0, tq)'



*7� �/�#�����" ��  " ����."�" �� ��%�B�� �� � 9� D�: -*

�� �
��� ���	����  �� ���� t ∈ [0, min{t1, tq})'

z(t; q∗) = T (t)z0 +

∫ t

0

T (t − s)F (q∗, s, z(s; q∗)) ds,

-

z(t; q) = T (t)z0 +

∫ t

0

T (t − s)F (q, s, z(s; q)) ds,

- �	� �	 ����	' �
 t ∈ [0, min{t1, tq})'

z(t; q∗) − z(t; q) =

∫ t

0

T (t − s) [F (q∗, s, z(s; q∗)) − F (q, s, z(s; q))] ds

=

∫ t

0

T (t − s) [F (q∗, s, z(s; q∗)) − F (q, s, z(s; q∗))] ds

+

∫ t

0

T (t − s) [F (q, s, z(s; q∗)) − F (q, s, z(s; q))] ds.

/���	' �� �
��� �	� �� ��	���� 1&4<@�B  �� ���� �	
	 q ∈ Q - t ∈ [0, min{t1, tq})

‖z(t; q∗) − z(t; q)‖δ =
∥∥(−Aω)δ (z(t; q∗) − z(t; q))

∥∥
Z

≤
∫ t

0

∥∥(−Aω)δT (t − s)
∥∥
L(Z)

‖F (q∗, s, z(s; q∗)) − F (q, s, z(s; q∗))‖Z ds

+

∫ t

0

∥∥(−Aω)δT (t − s)
∥∥
L(Z)

‖F (q, s, z(s; q∗)) − F (q, s, z(s; q))‖Z ds

≤
∫ t

0

C

(t − s)δ
‖F (q∗, s, z(s; q∗)) − F (q, s, z(s; q∗))‖Z ds

+

∫ t

0

C

(t − s)δ
‖F (q, s, z(s; q∗)) − F (q, s, z(s; q))‖Z ds

.
= ρ1(t) + ρ2(t).

�	� �� �
�#���
� 
� �	��
��

�
 /
����
�( 
� F (q, t, z) �	� �������	 � q - �	�	 q∗ ����

).	' 
� �	
	  �� �� �	�.���	 {z(s; q∗) : 0 ≤ s ≤ t′1} �� Zδ2��	��
	' �� �
���  ��

‖F (q∗, ·, z(·; q∗)) − F (q, ·, z(·; q∗))‖L∞(0,t′1:Z) ≤ C1‖q − q∗‖

- �	� �	 ����	 �%
��� ��� �	������� CF =
CC1(t

′
1)

1−δ

1 − δ
���  �� ρ1(t) ≤ CF‖q − q∗‖' ����

�	
	 t ∈ [0, t′1)&

C������ 	�	����	 �	��� � �$  �� �
 F (q, t, z) "���� ��	�������� /
����
�( �	��
���

�	� �������	 � z' �� ���
�$�  �� ρ2(t) ≤ ∫ t

0
C

(t−s)δ ‖z(s; q∗) − z(s; q)‖ ds' - �� !
���
 
��
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/��� 1&66 �� ���
�$� �� �������
	 
����
	& *
� ������	 �� �
�#���
� 9�: �� ��� 
��
�0 �#�	



��  �� F (q, t, z) �� �����
���� /
����
�( �	��
��� �	� �������	 � z& *
 �
�� �� �
���	  ��

�� 
��	�����
#� 
�� ��	����' �� ���� ���	' �� !���!� �	��

����������� ��� �	���
��
�'

�� 
��	������ 
�������  �� ���� �������
	 ����
�� �� ���
���
�

�
 � ��� ���� ����	 ���

����
� 
� ��	������ �	�
������ @�	� �.����	' � �	� ���	� 
� �	�
����

�
�� �	�
�#�
���

�� ��� !��
����� 
� ����
	B' �����	� 
� �	� ������ ����

����	� �� 
������ �� �	� ���$���	�

�
��
�����&

�	�	 z(0; q) = z(0; q∗)' �� �
���  �� �%
��� ηq > 0 ���  �� ‖z(t; q)‖δ ≤ M + CF + 2

���� �	
	 t ∈ [0, ηq]' 
	�
� M
.
= supt∈[0,t′1] ‖z(t; q∗)‖δ& *�� L �� �	������� /
����
�( 
�

F (q, t, z) �	�����	�

���� �� �	�.���	 U = [0, t′1] × {‖z‖δ ≤ M + CF + 2}' ���	����

ρ2(t) ≤
∫ t

0

C L

(t − s)δ
‖z(s; q∗) − z(s; q)‖δ ds ���� �	
	 t ∈ [0, ηq],

- �
 K = K(δ, CL, t′1) �	�	 �� �� /��� 1&66' ���	����

‖z(t; q∗) − z(t; q)‖δ ≤ fq(t), ���� �	
	 t ∈ [0, ηq], @6&1B


	�
� fq(t) �� 
�)��' ���� �	
	 t ∈ [0, t′1]' �	�

fq(t)
.
= CF‖q − q∗‖ + KCF‖q − q∗‖

∫ t

0

1/(t − s)δds.

=����!��  �� @6&1B �	� 
� �� �	�� �����
� ���	 �#�	 �� [0, ηq]& E����	� � �	��
����
#�

 �� ��� �	�� !��� ����
�� �� �	
	 �� 
����!��	 [0, t′1]& ���� ���	' 	����!��	�  ��' � ����
�


� �� 
�)�
�
#� 
� fq(t)' �%
��� ε = ε(K) > 0 ���  �� fq(t) ≤ CF +1 �� [0, t′1] �
 ‖q−q∗‖ < ε

- ���	����' ���� ‖q − q∗‖ < ε'

‖z(t; q) − z(t; q∗)‖δ ≤ CF + 1, ���� �	
	 t ∈ [0, ηq].

��	�����	� ��	��  �� �
 q ∈ Q - ‖q − q∗‖ < ε' ���	���� z(t; q) �%
��� �� [0, t′1] -

‖z(t; q)‖δ < M + CF + 2 �� [0, t′1]& �� �"���	' ���	����	� �	� �� �	�����
	'  �� �%
�2

�� t∗ < t′1 ���  �� ‖z(t∗; q)‖δ = M +CF +2 - ‖z(t; q)‖δ < M +CF +2 �� [0, t∗)& ���	����'

�	� @6&1B' ‖z(t; q) − z(t; q∗)‖δ ≤ fq(t) ≤ CF + 1 �� [0, t∗] @
�
	  �� ηq ���
� ����
���
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���� � t∗B& /���	 ‖z(t∗; q)‖δ ≤ ‖z(t; q∗)‖δ + CF + 1 ≤ M + C1 + 1' �	  �� �	����

��

‖z(t∗; q)‖δ = M + CF + 2&

D��	� ��	��
	 ���	����'  �� ���� �	
	 ‖q − q∗‖ < ε' �� !��
)��  �� ‖z(t; q)‖δ <

M + CF + 2 ���� �	
	 t ∈ [0, t′1]' �	 ���� 
���
��  �� ηq ���
� ����
��� 
���� � t′1 - ��

�	��������
� @6&1B �� ������ �� [0, t′1]' �� 
��
�

‖z(t; q) − z(t; q∗)‖δ ≤ ‖q − q∗‖
(

CF + K CF
t1−δ
1

1 − δ

)

�� [0, t′1] ���� �	
	 q ∈ Q ���  �� ‖q − q∗‖ < ε& ❏

� �	��
����
#� ���������	� �� �������
	 ��
��
��� 
� ���� ����
#�' �� �� ���� �� 
��

�	�

�
	��� ��)�
����� �	��� F ���� �� 

"�����
��
�

�
 
�� ����	 q → z(t; q)&


����!" *7$ ��
����
�� ��� �� ��
	����� ��� �� ��

�� 
��� ���5� δ ∈ (0, 1) � ���

�� 
�
�� (q, z(·)) → F (q, ·, z(·)) �� Q × L∞(0, T : Zδ) �� L∞(0, T : Z) �� ���������

��7���� �� �
��� ���������& ��
����
�� ��
��7� ��� �� 
�
�� (q, z(·)) → Fq (q, ·, z(·))
�� Q×L∞(0, T : Zδ) �� L∞(0, T : L(Q̃, Z)

)
�� �����
���� -�
������ �������� ��� ���
����

� q � � z(·)$ � ��� �� 
�
�� (t, z) → Fz(q, t, z) �� �������� �� [0, T ] × Zδ �� Z&

���� z0 ∈ Zδ � q ∈ Q$ � ��� t1 = t1(q, z0) ��� ��� [0, t1) �� �� ��������� 
�(�
�� ��

�(�������� �� z(t; q)& '������� �� 
�
�� q → z(t; q) �� ��"���������� ��7���� �� Q →
L∞(0, t′1 : Zδ)$ ∀t′1 ∈ (0, t1)$ � 
��� ���� h ∈ Q̃$ zq(t; q)h �� �� ������	� ��� �>? ������⎧⎪⎨

⎪⎩
dvh(t)

dt
= Avh(t) + Fz(q, t, z(t; q))vh(t) + Fq(q, t, z(t; q))h, t ∈ (0, t′1)

vh(0) = 0.

+�
�������	�& *��� z0 ∈ Zδ' q ∈ Q' t1 = t1(q, z0) ���  �� [0, t1) �� �� 
����!��	 ��%
��� 
�

�%
�����
� 
� z(t; q)' t′1 ∈ (0, t1)' - ε > 0 ���
����
	& �	�������	�  �� �%
��� γ∗ > 0 ���  ��

�
 h ∈ Q̃ - ‖h‖ < γ∗ ���	���� z(t; q+h) �%
��� �� [0, t′1] - ‖z(t; q + h) − z(t; q) − vh(t)‖δ <

ε‖h‖&
�	� �� ��	���� 6&1 �%
���� �	�������� �	�
�
!�� γ1 - C1 �����  �� �
 h ∈ Q̃ - ‖h‖ < γ1

���	���� z(t; q +h) �%
��� �� [0, t′1] - ‖z(t; q +h)−z(t; q)‖δ ≤ C1‖h‖ ���� �	
	 t �� [0, t′1]&
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�
����' ���� h ∈ Q̃' �	� ‖h‖ < γ1 �� �
���  ��

z(t; q + h) = T (t)z0 +

∫ t

0

T (t − s)F (q + h, s, z(s; q + h)) ds,

z(t; q) = T (t)z0 +

∫ t

0

T (t − s)F (q, s, z(s; q)) ds

�� [0, t′1] - ����
��

vh(t) =

∫ t

0

T (t − s) [Fz(q, s, z(s; q))vh(s) + Fq(q, s, z(s; q))h] ds

�� [0, t′1]& /� �%
�����
� 
� vh(·) �� [0, t1) �� �
��� 
� �� �
�#���
� 
� �	��
��

�
 
�

Fz(q, t, z) - 
�� ��	���� 1&61&

=����!��	� ��	��  ��

z(t; q + h) − z(t; q) − vh(t)

=

∫ t

0

T (t − s) [F (q + h, s, z(s; q + h)) − F (q, s, z(s; q))] ds

−
∫ t

0

T (t − s) [Fz(q, s, z(s; q))vh(s) + Fq(q, s, z(s; q))h] ds

=

∫ t

0

T (t − s) [F (q + h, s, z(s; q + h)) − F (q + h, s, z(s; q))] ds

+

∫ t

0

T (t − s)
[
F (q + h, s, z(s; q)) − F (q, s, z(s; q)) − Fq(q, s, z(s; q))h

]
ds

+

∫ t

0

T (t − s)
[
F (q, s, z(s; q + h)) − F (q, s, z(s; q)) − Fz(q, s, z(s; q))vh(s)

]
ds

+

∫ t

0

T (t − s) [F (q, s, z(s; q)) − F (q, s, z(s; q + h)] ds

.
= I1 + I2 + I3 + I4,


	�
� Ii' i = 1, 2, 3, 4 
��	�� �� i2��
�	 ����
�	 �� �� 	�
�� ��  �� �������� ���
��&

�	�	 F �� 

"�����
���� ������� �	� �������	 � z 
� L∞(0, T : Zδ) �� L∞(0, T : Z)

�	� �
�#���
�' �%
��� γ2 > 0 ���  �� �

∥∥z(·; q + h) − z(·; q)∥∥

L∞(0,T :Zδ)
< γ2' ���	����

‖F (q, s, z(s; q + h)) − F (q, s, z(s; q)) − Fz(q, s, z(s; q))(z(s; q + h) − z(s; q))‖Z

≤ ε ‖z(s; q + h) − z(s; q)‖δ



*7� �/�#�����" ��  " ����."�" �� ��%�B�� �� � 9� D�: -4

���� �	
	 s ∈ [0, t′1]' - �	� �	 ����	

‖I3‖δ ≤
∫ t

0

C

(t − s)δ
‖F (q, s, z(s; q + h)) − F (q, s, z(s; q))

−Fz(q, s, z(s; q)) (z(s; q + h) − z(s; q))‖Z ds

+

∫ t

0

C

(t − s)δ
‖Fz(q, s, z(s; q)) (z(s; q + h) − z(s; q) − vh(s))‖Z ds

≤
∫ t

0

C ε

(t − s)δ
‖z(s; q + h) − z(s; q)‖δ ds

+

∫ t

0

C C2

(t − s)δ
‖z(s; q + h) − z(s; q) − vh(s)‖δ ds,


	�
� C2 = ‖Fz(q, ·, z(·; q))‖L∞(0,T :L(Zδ,Z))& �	� �	 ����	' �
 ‖h‖ < min{γ2/C1, γ1}' 	���2
���	�

‖I3‖δ ≤
∫ t

0

C C1 ε

(t − s)δ
‖h‖ ds +

∫ t

0

C C2

(t − s)δ
‖z(s; q + h) − z(s; q) − vh(s)‖δ ds.

���� �	
	 t ∈ [0, t′1]&

�
����' �	�	 F �� 

"�����
���� ������� �	� �������	 � q' �%
��� γ3 > 0 ���  �� �


‖h‖ < γ3' ���	����

‖I2‖δ ≤
∫ t

0

C ε

(t − s)δ
‖h‖ ds.

�	� 	��	 ��
	' 	����!��	�  �� I1 + I4 ���
� ����
�
��� �	�	

I1 + I4 =

∫ t

0

T (t − s) [F (q + h, s, z(s; q + h)) − F (q, s, z(s; q + h))] ds

−
∫ t

0

T (t − s) [F (q + h, s, z(s; q)) − F (q, s, z(s; q))] ds

=

∫ t

0

T (t − s)Fq (q + α1(h)h; s, z(s; q + h))h ds

−
∫ t

0

T (t − s)Fq (q + α2(h)h; s, z(s; q))h ds


	�
� 0 < α1(h), α2(h) < 1& �� �	��������
�' �	� �� �	��
��

�
 /
����
�( 
� Fq �	�
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�������	 � q - � z(·) �����	�  ��

‖I1 + I4‖δ

≤
∫ t

0

C

(t − s)δ
‖Fq(q + α1(h)h, s, z(s; q + h)) − Fq(q + α1(h)h, s, z(s; q))‖Z ‖h‖ ds

+

∫ t

0

C

(t − s)δ
‖Fq(q + α1(h)h, s, z(s; q)) − Fq(q + α2(h)h, s, z(s; q))‖Z ‖h‖ ds

≤ ‖h‖
∫ t

0

C

(t − s)δ
(L1‖z(s; q + h) − z(s; q)‖δ + L2|α1(h) − α2(h)| ‖h‖) ds

≤ C3 ‖h‖2 ,


	�
� �� +��
�� 
��
����
�
 �� !��
)�� �
�����  �� ‖h‖ < γ1&

C����
��
	' �%
���� �	�������� γ∗ = min{γ1, γ2/C1, γ3, ε}, K1, K2 > 0' �����  ��' �


h ∈ Q̃ - ‖h‖ < γ∗' ���	���� ���� �	
	 t ∈ [0, t′1]

‖z(t; q + h) − z(t; q) − vh(t)‖δ ≤ K1 ‖h‖ ε + K2

∫ t

0

‖z(s; q + h) − z(s; q) − vh(s)‖δ

(t − s)δ
ds.

���� +��
�� 
��
����
�
' .���	 �	� �� /��� 1&66 
���
�� �� �%
�����
� 
� ��� �	�������

K̃' 
�
����

���� 
� ε' ���  �� ���� �	
	 t ∈ [0, t′1]

‖z(t; q + h) − z(t; q) − vh(t)‖δ ≤ K̃ ‖h‖ ε, �
 ‖h‖ < γ∗,

- �� ��	����  ��
� ��	��
	& ❏

"�� !�������
�
 ���	�4��# 
� �� (�����
� 
� ��3�4��

�	�	 !
�	� �� �� *���
#� 4&4' ��� �	�

�
#� ��)�
���� ����  �� �� ���	�
��	 
� ����
�
2

����
(��
#� �	�!��.� ��  �� �%
��� �� 
��
!�
� 
� ������� 
�� ����	 q → z(t; q)' ���	  ��

�
���� ���� 
��
!�
� ��� /
����
�( �	��
���& �� �
��
���� ��	���� ��	!�� �	�

�
	���

��)�
����� ����  �� �� !��
) �� ���� +��
�� �
�#���
�&


����!" *7* ��
����
�� ��� �� ��

��� ��� ��
	����� ��� 0����
� <&8& ��
����
��

��
��7� ��� �� 
�
�� (q, z(·)) → Fz(q, ·, z(·)) �� Q×L∞(0, T : Zδ) �� L∞(0, T : L(Zδ, Z))

�� �����
���� -�
������ �������� ��� ���
���� � �
��� ��������� q � z(·)& '�������$ ��


�
�� q → zq(·; q) �� Q → L∞(0, T : L(Q̃, Z)) �� �����
���� -�
������ ��������&
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+�
�������	�& �	� �� ��	���� 6&4 zq(t; q)h �	
��

� �	� �� �	���
#� 
�� ��	����� � !��	���


�
�
���� ⎧⎪⎨
⎪⎩

dvq,h(t)

dt
= Avq,h(t) + G(q, t, vq,h, h)

vq,h(0) = 0,


	�
� G(q, t, v, h)
.
= Fz(q, t, z(t; q))v + Fq(q, t, z(t; q))h& ��	��' ��� QC �� ����	�.���	

�	�����	 
� Q ��
 q1, q2 ∈ QC & ���	����' ���� v ∈ Zδ - t ∈ [0, T ]' �� �
���  ��

‖G(q1, t, v, h) − G(q2, t, v, h)‖Z ≤ ‖Fz(q1, t, z(t; q1)) − Fz(q2, t, z(t; q2))‖L(Zδ,Z) ‖v‖Zδ

+ ‖Fq(q1, t, z(t; q1)) − Fq(q2, t, z(t; q2))‖L(Q̃,Z) ‖h‖Q̃
≤ L1 ‖z(t; q1) − z(t; q2)‖Zδ

‖v‖Zδ
+ L2 ‖q1 − q2‖Q̃ ‖h‖Q̃

≤ (
L̃1 ‖v‖Zδ

+ L2 ‖h‖Q̃
) ‖q1 − q2‖Q̃ ,


	�
�' �� �� ������� 
��
����
�
 �� ��
�
(# �� ����	  �� z(t; q) �� �	�������� /
����
�(

�	��
��� �	� �������	 � q @��	���� 6&1B& �	� �	 ����	' �� ����	 q → G(q, ·, v, h) ��

�	�������� /
����
�( �	��
��	 - �� �	������� /
����
�( ���
� ����
��� 
�
����

���� 
�

v - 
� h �� ����	�.���	� �	�����	� 
� Zδ - Q̃' �������
!������& �� �	��������
�'

G(q, t, v, h) ���
�"��� �� �
�#���
� 
�� ��	���� 6&1 - �� ����	 q → zq(·; q)h �� �	��������

/
����
�( �	��
��	& ��� �+�' �	�	 �� �	������� /
����
�( 
� G �� 
�
����

���� 
� h ��

�	�.���	� Q̃2��	��
	�' �� �
��� 
���

�������� 
� �� 
��	�����
#� 
�� ��	���� 6&1  ��

�� �	������� /
����
�( 
�� ����	 q → zq(·, q)h ����
�� ���
� ����
��� 
�
����

���� 
�

h �� �	�.���	� Q̃2��	��
	�& ���	 ����
�� �� 
��	�����
#� 
�� ��	����& ❏
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ε = ux(x, t)

@7&1B

���� x ∈ Ω - t > 0' 
	�
� �	� ���$�

��� x - t 
��	��� 
��
!�
��& � �$ ε = ux �� �	  ��

�� ����� ����
� �������
�� �
����
(�
	 - �� "���
#� Ψ(ε, εx, θ) �� �� �	����
�� 
� �����$�

�
��� 
� D����	��(&

*��	����	� �	� �� �	����	  �� ��� �	�������� ρ' k - β �	� �	�	�

�� -  �� ����
��

�	 �	� ��� "���
	��� f(x, t) - g(x, t)& I�� �	�
��� ���	����� �� ��� 
� "���
	��� u(x, t)'

θ(x, t)  �� ���
�"���� �� �
����� 
� �����
	��� @7&1BJ C������ ����	  �� ����� 
� �	
��

�	������� � ���� �������� �����
�����	�' �� ���	�

9�: �	�	��� �� "	��� �%��$�
�� 
�� "���
	��� Ψ(ε, εx, θ)A

9��: � 
��	��� �	�

�
	��� 
�
�
���� - 
� "�	����� ����!�����

���� �	
�� ���
�� �	���(�� � 
������� ���	�!�� �� �
����� 
� �����
	��� 

"�����
���� ��


��
!�
�� ����
���� ����������& �� ��	����� 9�: ���� $��
������� �����
	��
	 �	� ��� ����2

�
	��� "���(��
�"	����
#� @	 �����������
�B  �� ����
(��	� �� ��
��
�
	 - �	� ��� ��	�$�


� �����
�
	��� 
� "��� �����
� ��	�$� 
� /��
�� F46G  �� 

��' ����� 	���� �	���'  ��

�	�

�
	��� 
��� ���
�"���� �� "���
	��� Ψ& �� � �$ 
	�
� �	� �	
��	� 
�	����
�	� ���2

�
	��
	� �����
	������ .����� �� �	� 
��	������& ��
	  �� �� ������ σ ���
� 
�)�
���

�	�	 �� 
��
!�
� ����
�� 
�� �	����
�� 
� �����$� �
��� �	� �������	 �� ����
� ε' �� �	����
��

Ψ ���� ��� ���  ��' ���� �	� 

"������� ����	� 
� �����������' ��� ���!�� ε�Ψε ��������

�� �	��	����
���	 �
�
��� ��  �� �%�
��� ��� ���!�� "���(��
�"	����
#� 	����

�� �%��2

�
�����������& ���� �� ���	 
� �����
���� ���"��������� �����
�	� �� �
���  �� �� ������ ��

��	�	��
	��� �� ����
�0 σ = cε @/�- 
� D		R�B 
	�
� c �� ��� �	������� �����
� �#
��	


� �����
�

�
 	 �#
��	 
� K	���& �� �� ���	 
� �����
���� �
��������� ����	�����
�	�'

�� �#
��	 
� �����
�

�
 
����
� 
� �� �����������0 σ = c(θ)ε& D�����	� 
� �����
�

�




)0 �"����" �# ��� ��!���" �� ���!"

@����	�����
�

�
B �	 �
���� ����
	 σ �� ��� "���
#� �	�
���� 
� ε @- 
� θB' �	�#�	��

����
���� �	� �������	 � ε ���� ��
� θ ).	& �� �	� ���	� 
� �����
�

�
 �
����' �	� �	���2

�
���� 
� �����$� ��	�
�
	� �	� 
� �
�	 ���
���
�	 -' �� �������' �	�!�%	� ���� �� ����

��-	�$� 
� �	� �������& ���� �� ���	 
� �	� �����
���� �	� ���	�
� 
� "	���' �� �
���2

���
� - �� ����	2�����	2�����
�

�
  �� ��������
(�� ��� �����
	��� "���(��
�"	����
#� �

������������ ��.�� � 
������

�� �� ���
��� �� �	����
���� 
� �����$� �	 �	�!�%	� @M�H	

H��� �	����
���NB& �� ���� ������	 ��� �

	 ��- 
��	������� �	� �����.	� 
� �& ���R @F47G'

F48GB'  �
�� 
������
#  �� �� �	����
�� 
� �����$� �
����  �� ���
�"��� �	
�� ��� �
�#���
�


� �� ��	�$� 
� /��
�� - �� �
��	 �
���	 �� ����( 
� ����	
��
� ����	� 
� �	� "��#���	�

	����!�
	� �%���
�����������' ���� 
�
	 �	� �� �����
	 �	����
�� 
� /��
��2;
�(����0

Ψ(ε, εx, θ) = −Cvθ log

(
θ

θ2

)
+ Cvθ + C + α2(θ − θ1)ε

2 − α4ε
4 + α6ε

6 +
γ

2
ε2
x, @7&4B


	�
� Cv' θ1' θ2' α2' α4' α6' γ - C �	� �	�������� �	�
�
!�� 
����

����� 
�� �����
��

�	��

���
	 θ1 - θ2 �	� 
	� ������������ ��$�
��� - Cv 
��	�� �� ���	� �����$)�	A ���

�	�������� α2' α4' α6' �	� �	�������� ��=+A#��"#' �� �	������� C �� �� �
!�� 
� �����$�


� ��"�����
� ).	 - γ 
��	�� �� �
�

�( � �� �	��
#� @���

�� ��
L����B& =����!��  ��

���� !��	��� 
� θ ����� 
� θ1' Ψ �� ��� "���
#� �	 �	�!�%� 
� ε -  �� �
 �� ����
�����

α4 = α6 = 0 �����	� �� �� ���	 
� ����	�����
�

�
 �
����& �� �� �
��	 �����.	' ���R

��	�	�� T���� ��� �����
#� ����
�����T �
���	� !��	��� ���� �	� ��������	� ���� �	�

������ ��� ���!�� ε�Ψε �������� ���� �
�
���

�
 �	� ��� 
� �� �
���� 7&1 @!�� �
���� 7&4B&

�	� �� �	����
�� Ψ 
�
	 �	� @7&4B' �� �
����� @7&1B �	�� �� "	���⎧⎨
⎩

ρutt − βρuxxt + γuxxxx = f(x, t) +
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� �	� �������
	�

�� ���� ���� ���
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	��� 
�� ��	���2
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���� 
� �	�	��� �� "	��� 
�� "���
	��� Ψ(ε, εx, θ)' 
��	��� �	�

�
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���� - 
� "�	����� ����!�����& �	��

������	� ��� �
��
�����0

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

u(x, 0) = u0(x), ut(x, 0) = v0(x), θ(x, 0) = θ0(x);

u(0, t) = u(1, t) = 0 = uxx(0, t) = uxx(1, t);

θx(0, t) = θx(1, t) = 0,

@7&7B


� ������  �� �� ����� �� ��������� ).� @M�
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�
�
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�����(��
���	' �� !��	�

�
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�� ����������� 
� �� ����� �� ���	��� �	�	�

�� �� t = 0&

�� �	
�� ��� �	�������� 
����!
�
����� �� �� �
����� @7&6B' �	� ��������	� α2' α4' α6
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�� 
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�


� �%���
����	� 
� ���	���	�
	& ���
� �� ����	 
� !
��� �����
�	 - 
� ��� ���
���
	���'

���$� ��- 
���������� ���	����� �	� !��	��� 
� ���	� ��������	�' �	�	 ��$ ����
�� 
� ��

����������� ��$�
�� θ1 ���� �� �
���	 �����
��& ��� �
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 �� �� "	��� 
�� ��	����� ��������	 �	
��

� �	� �� �����
#� @1&11B ���� �� ���� �� ����

#

�� ��	����� 
� 

���
)���
#� �� �� ���$���	 4&

���
��
	 �� ������  �� ��	 
� ������	� 	�.��
!	� �� �� 
� 

���
)��� �	� ��������	� α2'

α4' α6 - θ1' - ���
��
	 
� �������	  �� �	� �	�
�
!	�' 
�)�
�	� �� ���*���� �� 
���
�����

��
������� Q = {q = (α2, α4, α6, θ1) | q ∈ R4
>0}' - 
�)�
�	� �� �����
	 
� ����
	� Z �	�	
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�� �����
	 
� D
����� H1
0 (0, 1) ∩ H2(0, 1) × L2(0, 1) × L2(0, 1) �	� �� ��	
���	 
�����	

〈⎛⎝u
v
θ

⎞
⎠,

⎛
⎝ũ

ṽ

θ̃

⎞
⎠〉 = γ

∫ 1

0

u′′(x)ũ′′(x) dx + ρ

∫ 1

0

v(x)ṽ(x) dx +
Cv

k

∫ 1

0

θ(x)θ̃(x) dx.

���	�����	� �	� ‖·‖ � �� �	��� 
�
��

� �	� 〈·, ·〉 �� Z&

�	� ���� �	���
#�' �� ��	����� 
� !��	��� 
�
�
���� - 
� "�	����� @7&6B�@7&7B ���
�

����
�
��� "	��������� �	�	 �� �
��
���� ��	����� 
� �����- ��������	 �� Z{
d
dt

z(t) = Az(t) + F (q, t, z(t)), 0 ≤ t ≤ T

z(0) = z0,
@7&8B


	�
�

z(t)(x) =

⎛
⎝u(x, t)

ut(x, t)
θ(x, t)

⎞
⎠ , z0(x) =

⎛
⎝u0(x)

v0(x)
θ0(x)

⎞
⎠ ,

D(A) =

⎧⎨
⎩
⎛
⎝u

v
θ

⎞
⎠ ∈ Z

∣∣∣∣∣∣
u ∈ H4(0, 1), u(0) = u(1) = 0 = u′′(0) = u′′(1),

v ∈ H1
0 (0, 1) ∩ H2(0, 1),

θ ∈ H2(0, 1), θ′(0) = θ′(1) = 0

⎫⎬
⎭ @7&9B

- ����

⎛
⎝u

v
θ

⎞
⎠ ∈ D(A)

A

⎛
⎝u

v
θ

⎞
⎠ =

⎛
⎝ v

βv′′ − γ
ρ
u′′′′

k
Cv

θ′′

⎞
⎠ =

⎛
⎜⎝ 0 I 0

−γ
ρ

∂4

∂x4 β ∂2

∂x2 0

0 0 k
Cv

∂2

∂x2

⎞
⎟⎠
⎛
⎝u

v
θ

⎞
⎠ . @7&5B

�� ����
�	 �	�
���� F : Q× [0, T ]×D(F ) → Z �� 
�)�� �	� D(F ) = H2(0, 1)×H1(0, 1)×
H1(0, 1) -

F (q, t, z) = F
(
q, t,

⎛
⎝u

v
θ

⎞
⎠) =

⎛
⎝ 0

f2(q, t, z)
f3(q, t, z)

⎞
⎠ @7&:B


	�
�

ρf2(q, t,

⎛
⎝u

v
θ

⎞
⎠) = f(x, t) +

d

dx

[
2α2 (θ(x) − θ1) u′(x) − 4α4u

′(x)3 + 6α6u
′(x)5

]
, @7&<B

Cvf3(q, t,

⎛
⎝u

v
θ

⎞
⎠) = g(x, t) + 2α2θ(x)u′(x)v′(x) + βρv′(x)2. @7&1>B
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����!" -7� ��� A �� �
������ ������ ������� 
�� @7&9B3@7&5B& '�������

9�: '� �
������ A �� ����
�����%

9��: '� �
������ ��*���� A∗ �� A �� ��
��7� ����
�����$ D(A∗) = D(A)$ � 
���

⎛
⎝u

v
θ

⎞
⎠ ∈

D(A∗)$

A∗

⎛
⎝u

v
θ

⎞
⎠ =

⎛
⎝ −v

βv′′ + γ
ρ
u′′′′

k
Cv

θ′′

⎞
⎠ =

⎛
⎜⎝

0 −I 0
γ
ρ

∂4

∂x4 β ∂2

∂x2 0

0 0 k
Cv

∂2

∂x2

⎞
⎟⎠
⎛
⎝u

v
θ

⎞
⎠ ;

9���: '� �
������ A ����� ��
����� 
���
���� 
������ σp(A) ���� 
��

σp(A) =
{
λ+

n

}∞
n=1

∪ {λ−
n

}∞
n=1

∪ {αn}∞n=0 ,

�����

λ+,−
n =

√
μn

(
−r ±

√
r2 − 1

)
, αn = − k

Cv
n2π2

� μn = γn2π2/ρ$ r = β
√

ρ/2
√

γ& -�� ������
��������� ������������ ���
��������

�� Z ���$ ���
������
����$⎛
⎝ en(x)

λ+
n en(x)

0

⎞
⎠

n=1,2,...

,

⎛
⎝ knen(x)

knλ−
n en(x)
0

⎞
⎠

n=1,2,...

,

⎛
⎝ 0

0
χn(x)

⎞
⎠

n=0,1,...

,

�����

k2
n =

μn + |λ+
n |2

μn + |λ−
n |2

, en(x) =

[
2

ρ(μn + |λ+
n |2)

]1/2

sen(πnx), n = 1, 2, . . . ,

χ0(x) =

(
k

Cv

)1/2

, χn(x) =

(
2k

Cv

)1/2

cos(πnx), n = 1, 2, . . . ;

9�.: '� �
������ A ������ �� ��
����
� ����,���� �� ������������� T (t) ����� Z&
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��� ��	���� 7&1 �� �
���  �� {λ ∈ C : Re(λ) > 0} ⊂ ρ(A)& /���	' ��� �	����
��

"����
	���
�� (I −A)δ 
� I −A �	� 	����
	��� �
������ �����
	� � 
�!���
���� �	� 
�!����

��	��
� ���� ���� �
�� δ ∈ [0, 1] @!�� *���
#� 1&8B& �	� �	 ����	' D(I −A)δ �	� �� �	���


�� ���)�	 
� (I −A)δ �� �� �����
	 
� 3����� - �	�	 (I −A)δ �� 
�!���
��� �	� 
�!����

��	��
�' �� �	��� ‖z‖δ

.
=
∥∥(I − A)δz

∥∥ �� � �
!������ � �� �	��� 
�� ���)�	& /�������	�

Zδ �� �����
	
(
D(I − A)δ, ‖ · ‖δ

)
&

*	��� ��� �����
�� 
�� �
����� @"���(�� - "������ 
� ���	� 

���
��

��B �	��

������	�

�� �
��
���� �
�#���
� 
� �������

�
0

9>�: ������� �	�
����� �����
���
� Kf , Kg ∈ L2(0, 1)� �
��� �	�

|f(x, t1) − f(x, t2)| ≤ Kf (x) |t1 − t2| � |g(x, t1) − g(x, t2)| ≤ Kg(x) |t1 − t2|

�
�
 

�� ���� x ∈ (0, 1) � ���� t1, t2 ∈ [0, T ]�

�	� ���� �
�#���
�' �� �
��� �� �
��
���� �������
	 
� �������

�
 �	��� �� ����� �	�
����


�� �E� @7&8B F75' ��	���� 6&1G&


����!" -7$ ��
����
�� ��� �� ��

�� �� ��
	����� ����& ���� q ∈ Q$ ε > 0 � U

�� ���*���� ������� �� [0, T ]×Z 3
4
+ε& '������� �(���� ��� ��������� L = L(q, U, f, g) ���

���

‖F (q, t1, z1) − F (q, t2, z2)‖ ≤ L
(|t1 − t2| + ‖z1 − z2‖ 3

4
+ε

)

��� ���� (t1, z1), (t2, z2) ∈ U $ �� �����$ �� "����	� F : Q×[0, T ]×Z 3

4
+δ → Z �� �����
����

-�
������ �������� �� t � �� z& 1�� �5�$ �� ��������� L 
���� �������� ����
�������� ��

q �� ��������� ������*���� ��

���� �� Q&

�� �� 
��	�����
#� 
� ���� ��	���� F75' ��	���� 6&1G �� 
��������' ��
�
(��
	 ��2

�����
	� ����
�	� 
� ��	�$� 
� 
�����	���
#� @!�� �	� �.����	 F64G 	 F81GB �� �
��
����

��������
(��
#� 
� �	� �����
	� Zδ  �� � �$ ���������	� �� �� �
��
����
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��� "��� -7* �� 3
4

< δ ≤ 1$ ��������

Zδ =

⎧⎨
⎩
⎛
⎝u

v
θ

⎞
⎠ ∈ H2+2δ × H2δ × H2δ

∣∣∣∣∣∣
u(0) = u(1) = u′′(0) = u′′(1) = 0

v(0) = v(1) = 0
θ′(0) = θ′(1) = 0

⎫⎬
⎭

� �� ���
� ‖·‖δ �� ����������� � �� ���
� ��� ��
���� 
������� H2+2δ × H2δ × H2δ&

�� ��	���� 7&4 ��	!�� �	�

�
	��� ��)�
����� ����  ��' 
�
	� δ > 3
4
- z0 ∈ D(I−A)δ'

�%
��� t1 > 0 ���  �� �� ����	 G : C ([0, t1) : Z) → C ([0, t1) : Z)' 
�
	 �	�

Gy(t) = T (t)(I − A)δz0 +

∫ t

0

(I − A)δT (t − s)F
(
q, s, (I − A)−δy(s)

)
ds

����� �� ����	 ).	 y∗(t) = y∗(t; q, z0)& C������ ����	  �� (I − A)−δy∗(t) �� ��� �	��2

�
#� 
� @7&8B �� [0, t1)& ��� ����
�������' �	�	 �	��������
� 
�� ��	���� 9&6&1 - 
��

�	�	���
	 9&6&4 �� F74G' �� �
��� �� �
��
���� �������
	 
� �%
�����
� - �������

�
&


����!" -7- ��� q ∈ Q$ δ > 3
4

� ��
����
�� ��� �� ��

�� ����& '�������$ 
���

���� ���� ������� z0 ∈ D(I − A)δ �(���� t1 = t1(q, z0) ��� ��� �� 
�����
� �� �������

��������� @7&8B ����� ��� 5���� ������	� z(t; q, z0) ∈ C ([0, t1) : Zδ) ∩ C1 ((0, t1) : Z)& 1��

�5�$ d
dt

z(t; q, z0) ∈ C1−δ
loc ((0, t1) : Z)$ �� �����$ d

dt
z(t; q, z0) �� �����
���� 2@���� ��������

�� (0, t1) ��� �(
������ 1 − δ& ���
��$ �� QC �� �� ������*���� ��

���� ��� ���*����

�� 
���
����� ��
������� Q$ �������� t∗1 = inf {t1(q, z0) : q ∈ QC} > 0$ �� �����$ �(����

�� ���

� ���� t∗1 > 0 ��� ��� �� ������	� z(t; q) �(���� �� [0, t∗1) 
��� ���� q ∈ QC&
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	���� �����	

�

�� ���� ���$���	 
�)�
���	� ���	%
���
	��� 
� 

����
#� )�
�� �� ��	����� 
� �����-

��������	 @7&8B' 
��	�������	� �� �	�!������
� 
� ��� �	���
	��� 
� �	� ��	������ 

�2

����	� � �� �	���
#� 
�� ��	����� @7&8B - ��
�
(����	� ��� �
���� ���� ���	����� ���	%
2

���
	��� �����
��� � ��� �	���
	��� 
� @7&6B�@7&7B ���� 

��
���� �	�

�
	��� 
�
�
���� -

���
	��� �%������& /�� ���	%
���
	��� �� ������� �� �� ��
�
(��
#� 
� �	� ���	!��	��� -

���	"���
	��� 
� �� ����� �
���� 
� �� �����
#� @7&8B&

� �	 ����	 
� ���� ���$���	' �� ��������	 q ∈ Q ������ ).	' ��$  ��' �
�����  ��  ��
�

����	 �� �� �	���%�	' ���� ����
�

	 
� �� �	���
#�&

+�� ����2��������	 ��
���	

��)�
�	�' ���� N ∈ N ).	

βN
n (x)

.
=

⎛
⎝ sin πnx

λ+
n sin πnx

0

⎞
⎠ , βN

N+n(x)
.
=

⎛
⎝ sin πnx

λ−
n sin πnx

0

⎞
⎠ , βN

2N+n(x)
.
=

⎛
⎝ 0

0
cos π(n − 1)x

⎞
⎠ ,

���� n = 1, 2, . . . , N ' 
	�
� λ+,−
n �	� �	�	 �� �� ��	���� 7&1' - 
�)�
�	� ZN �	�	 ��

�����
	 ������
	 �	� β̂N
.
=
{
βN

n (x)
}3N

n=1
�	� �� �	��� ����
�
� 
� Z& /���	'

∞⋃
N=1

ZN ��


���	 �� Z -' �	�	 ��� βN
n �	� ���	"���
	��� 
� A' �� �
���  �� ZN �� 
�!��
���� ��.	

A& �	���	� ����
��  �� �	� �� ��	
���	 
�����	 ����
�
	 
� Z' ZN �� �� �����
	 
�

D
�����&



00 	&��/�!"�����# ��!%���"#

� �	��
����
#�' 
�)�
�	� �� ��	����� �� 

����
#� )�
�� ���	%
����� �	�	 �
���{
d
dt

zN (t) = ANzN (t) + F N
(
t, zN (t)

)
, 0 ≤ t ≤ T

zN (0) = P Nz0

@8&1B


	�
� P N : Z → ZN �� �� ��	-���
#� 	��	�	��� 
� Z �	��� ZN ' AN �� �� �����
��
#� 
�

A � ZN - F N(t, z)
.
= P NF (t, z)& /� 
���

�
 
�

∞⋃
N=1

ZN �� Z 
���
�� �� �	�!������
�

"����� 
� P N � �� 

���

�
& ��� �+�' �� ������	 ����
��	 ��
�
(��
	 �� 
���	��	�
�
#�

��������� 
� A �������  ��
∞⋃

N=1

ZN �� ����
�� 
���	 �� Zδ -
∥∥P Nz− z

∥∥
δ
→ 0 ���� �	
	

z ∈ Zδ - 0 < δ ≤ 1&

�	�	 ZN �� 
� 

����
#� )�
��' �� 	����
	� AN �� �
���� - ��	��
	 �	��� ZN ' -

�	� ��
� ������ �� ���
����	 ��
"	�������� �	��
��	 
� 	����
	��� �
������ - ��	��
	�

T N(t) �	��� ZN &

�� �
��
���� �������
	 ����� �	��� �� �%
�����
� �	��� 
� �	���
	��� 
�� ��	����� ���	2

%
����� @8&1B&


����!" )7� ��� z0 ∈ Z& '�������$ 
��� ���� ������ 
������� N $ �(���� tN1 > 0 ��� ���

@8&1B ����� ��� 5���� ������	� �� [0, tN1 )&

+�
�������	�& *�� δ ∈ (3
4
, 1)' z0 ∈ Z - N ∈ N ).	�& �	� �� ��	���� 7&4' ���� �	
	 r > 0'

t′ > 0' �%
��� ��� �	������� L(r, t′) ���  ��

‖F (t, q) − F (s, w)‖Z ≤ L(r, t′)
(|t − s| + ‖z − w‖δ

)

���� �	
	 t, s ∈ [0, t′] - z, w ∈ Zδ �	� ‖z‖δ ≤ r' ‖w‖δ ≤ r& /���	' ���� �	
	 t, s ∈ [0, t′]

- z, w ∈ Zδ �	� ‖z‖δ ≤ r' ‖w‖δ ≤ r �� �
���  ��

∥∥F N(t, z) − F N(s, w)
∥∥

ZN =
∥∥P N(F (t, z) − F (s, w))

∥∥
Z

≤ ‖F (t, z) − F (s, w)‖Z

≤ L(r, t′)
(|t − s| + ‖z − w‖δ

)
≤ L(r, t′)C(δ, N)

(|t − s| + ‖z − w‖ZN

)
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	�
� �� �	������� C(δ, N) ������� �	�	 �	��������
� 
� �� � �
!�����
� 
� �	���� ��

ZN &

�	����-��
	' �� ����	 (t, z) → ANz + F N(t, z) �� �	�������� /
����
�( �	��
��	 
�

[0, T ] × ZN �� ZN - �	� �	 ����	 �%
��� tN1 > 0 ���  �� �� ��	����� @8&1B �
��� �	���
#�

+�
�� �� [0, tN1 )& ❏

�	�	 �� 
� ���������' �	� ���
����	� T (t) - T N(t) ����� "���������� �����
	��
	�'

���� �����
#� �� 
����
�� �� �� �
��
����

��!" )7$ ���� T (t)$ T N(t)$ A$ AN $ Z$ � ZN ��
� �� ��������� ��������
���� �

������
�� ��� R(λ, A)
.
= (λI − A)−1 � �� ���������� �� A �� λ& '�������

9�: 
��� ���� λ ∈ ρ(A)$ �� ��
���� ZN �� ���������� ��*� R(λ, A)%

9��: �� ���������	� �� T (t) � ZN �������� ��� T N(t) 
��� ���� t ≥ 0$ �� �����

T (t)
∣∣
ZN = T N(t) 
��� ���� t ≥ 0.

+�
�������	�&

9�: *�� λ ∈ ρ(A) - ξ �� �������	 
� �� ���� β̂N 
� ZN - 
�)���	� z
.
= R(λ; A)ξ&

/���	 z �� �� ���	!���	� 
� A �	�����	�

���� �� �
��	 ���	!��	� σ 
� ξ& ��

�"���	' (λI − A)Az = Aξ = σξ' �	  �� 
���
�� Az = R(λ; A)σξ = σz& �	�	 �	
	�

�	� ���	!��	��� 
� A �	� �
�����' z 
��� ��� �� �+��
��	 
� ξ - �	� �	 ����	 z ∈ ZN &

�	�	 R(λ; A) �� �
���� @
B ���� ��	��
	&

9��: �	�	 ZN �� 
�!��
���� ��.	 A' �� 	����
	� ÃN ' �� 
���� 
� A �� ZN ' 
�)�

	 �	�

D(ÃN)
.
=
{
z ∈ D(A) ∩ ZN : Az ∈ ZN

}
ANz

.
= Az, z ∈ D

(
ÃN

)

�	
��

� �	� AN ' �� ���������	� 
� A � ZN & /���	' ÃN ������ �� ���
����	 ��
2

"	�������� �	��
��	 �� ZN - �	� �� ����� @
B' ZN �� 
�!��
���� ��.	 R(λ; A) ����
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�	
	 λ ∈ ρ(A)& �	� �� ��	���� 7&8&8 �� F74G �� �
���  �� ÃN = AN �� �� ������
	�


�)�
���
��� 
� �� �����
��
#� 
� T (t)' �� ���
����	 ������
	 �	� A' � ZN & ❏

�� �
��
���� ��	���� �� �� �������
	 ��
��
��� 
� ���� ����
#� - ����� �	��� �� �	�!��2

����
� 
� ��� �	���
	��� 
� @8&1B � �� �	���
#� 
� @7&8B&


����!" )7* ��� δ ∈ (3
4
, 1)$ z0 ∈ Zδ � ��
����
�� ��� zN (t)$ z(t) ��� ���������� ��

@8&1B � @7&8B$ ���
������
����$ � ��� [0, t1) �� ��������� 
�(�
�� �� �(�������� �� z(t)&

'�������$ 
��� ���� t′1 < t1 �(���� ��� ��������� N0 ��� ��� zN (t) �(���� �� [0, t′1] 
���

���� N ≥ N0 � zN (t) �������� � z(t) �� �� ���
� �� Z 
��� ���� t ∈ [0, t′1]& 1�� �5�$ ��

������������ �� ����� �� �� ���
� �� Zδ&

+�
�������	�& *�� δ ∈ (3
4
, 1)' z0 ∈ Zδ' t′1 < t1 - ���� ��
� N ∈ N ��� tN1 > 0 ���  ��

zN (t) �%
��� �� [0, tN1 )& ���	����' ���� t ∈ [0, min{t′1, tN1 }
)
- N ∈ N

zN (t) = T N(t)P Nz0 +

∫ t

0

T N(t − s)P NF (s, zN(s)) ds

z(t) = T (t)z0 +

∫ t

0

T (t − s)F (s, z(s)) ds.

/���	'

∥∥zN (t) − z(t)
∥∥

δ
=
∥∥(I − A)δ

(
zN (t) − z(t)

)∥∥
Z

≤ ∥∥(I − A)δ
(
T N(t)P Nz0 − T (t)z0

)∥∥
Z

+

∫ t

0

∥∥(I − A)δ
[
T N(t − s)P NF (s, zN(s)) − T (t − s)F (s, z(s))

]∥∥
Z

ds

.
= ρN

1 (t) + ρN
2 (t).

�	�	 T (t) �	����� �	� (I − A)δ - �	�	 T N(t) �� �� �����
��
#� 
� T (t) � ZN

ρN
1 (t) =

∥∥(I − A)δT (t)
(
P Nz0 − z0

)∥∥
Z

≤ ‖T (t)‖L(Z)

∥∥(I − A)δ
(
P Nz0 − z0

)∥∥
Z

.
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��� �
��	 �	
	' ���� �� 
�������
	 
� ρN
2 (t) �����	�  ��∥∥(I − A)δ

[
T N(t − s)P NF (s, zN(s)) − T (t − s)F (s, z(s))

]∥∥
Z

=
∥∥(I − A)δT (t − s)

[
P NF (s, zN (s)) − F (s, z(s))

]∥∥
Z

≤ ∥∥(I − A)δT (t − s)
∥∥
L(Z)

∥∥P NF (s, zN (s)) − F (s, z(s))
∥∥

Z

≤ Cδe
t′1

(t − s)δ

∥∥P NF (s, zN(s)) − F (s, z(s))
∥∥

Z
.

@8&4B

���	 ∥∥P NF (s, zN (s)) − F (s, z(s))
∥∥

Z
≤ ∥∥P N

[
F (s, zN(s)) − F (s, z(s))

]∥∥
Z

+
∥∥P NF (s, z(s)) − F (s, z(s))

∥∥
Z

≤ ∥∥F (s, zN(s)) − F (s, z(s))
∥∥

Z

+
∥∥(P N − I)F (s, z(s))

∥∥
Z

.

@8&6B

/���	' 
� @8&4B - 
� @8&6B �� �
���  ��

ρN
2 (t) ≤ Cδe

t′1

∫ t

0

1

(t − s)δ

∥∥F (s, zN(s)) − F (s, z(s))
∥∥

Z
ds

+ Cδe
t′1

∫ t

0

1

(t − s)δ

∥∥(P N − I)F (s, z(s))
∥∥

Z
ds.

@8&7B

�� 
�������
	 
�� �����
	 ����
�	 
�� ��
	 
�����	 
� @8&7B ���� ��	��
	 ��
"	��������

�� N �	� 2
(t−s)δ ‖F (s, z(s))‖Z ∈ L1(0, t)' - �	�!���� � ���	 ����
	 N �
��
� � 
�)�
�	& �	�

�� ��	���� 
� �� �	�!������
� �	�
��
� 
� /�������' �� �����
	 ����
�	 
� �� +��
��


��
����
�
 �
��
� � ���	 ����
	 N �����&

C����
��
	' �����	�  ��

∥∥zN (t) − z(t)
∥∥

δ
≤ εN (t) +

∫ t

0

C̃

(t − s)δ

∥∥F (s, zN (s)) − F (s, z(s))
∥∥

Z
ds @8&8B


	�
�' ���� t ∈ [0, t′1]' εN(t) ≤ C ���� �	
	 N ∈ N - εN (t) → 0 ����
	 N → ∞& ��

����
�����
∫ t′1
0

εN (t) dt → 0 ����
	 N → ∞&

�	�	 zN (0) = P Nz0 �%
��� δN > 0 ���  ��
∥∥zN (t)

∥∥
δ
≤ M +C+2 ���� �	
	 t ∈ [0, δN ]'


	�
� M
.
= sup0≤t≤t′1

‖z(t)‖δ& *�� L �� �	������� /
����
�( ���� F �	�����	�

���� ��

�	�.���	 U
.
= [0, t′1] ×

{‖z‖δ ≤ M + C + 2
}
& ���	����' 
� @8&8B

∥∥zN (t) − z(t)
∥∥

δ
≤ εN(t) + C̃L

∫ t

0

1

(t − s)δ

∥∥zN (s) − z(s)
∥∥

δ
ds
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���� �	
	 t ∈ [0, δN ]' - �
 K = K(δ, C̃L, t′1) �	�	 �� �� /��� 1&66' ���	����

∥∥zN (t) − z(t)
∥∥

δ
≤ fN(t), ���� �	
	 t ∈ [0, δN ], @8&9B


	�
�' ���� t ∈ [0, t′1]' �� 
�)�� fN(t)
.
= εN(t) + K

∫ t

0
εN(t)/(t − s)δ ds&

� �	��
����
#� �� �	������  �� �%
��� N0 ∈ N ���  �� fN(t) ≤ C + 1 ���� �	
	

t ∈ [0, t′1] - ���� �	
	 N ≥ N0& �	�	 �� !��� ��� �
������' ���	 �	 �	�	 
���
����

�� �%
�����
� 
� zN (t) �� �	
	 �� 
����!��	 [0, t′1] ���� �	
	 N ≥ N0' �
�	 ����
��  ��∥∥zN (t)
∥∥

δ
≤ M + C + 2' ���� t ∈ [0, t′1] - N ≥ N0&

�� �"���	' 	����!��	�  ��∫ t

0

εN (t)

(t − s)δ
ds ≤

∫ t

0

C

(t − s)δ
ds @8&5B

=

∫ t

0

C

sδ
ds @8&:B

=
C

1 − δ
t1−δ. @8&<B

��
�
��
	 η = η(C, K) =
(

1−δ
2CK

) 1
1−δ �� �
���  �� t1−δ ≤ 1 − δ

2CK
���� �	
	 t ∈ [0, η]' ����	

∫ t

0

εN(t)

(t − s)δ
ds ≤ 1

2K
���� �	
	 t ∈ [0, η]. @8&1>B

�	� 	��	 ��
	' �
 η < t ≤ t′1∫ t

0

εN (t)

(t − s)δ
ds =

∫ t

0

εN(t − s)

sδ
ds

=

∫ η

0

εN (t − s)

sδ
ds +

∫ t

η

εN(t − s)

sδ
ds

≤ C

1 − δ
η1−δ +

∫ t

η

εN(t − s)

ηδ
ds

≤ 1

2K
+

1

ηδ

∫ t

η

εN(t − s) ds

≤ 1

2K
+

1

ηδ

∫ t′1

η

εN (s) ds.

/���	' �	�	
∫ t′1

η
εN (s) ds → 0' �%
��� N0 ���  ��∫ t

0

εN (t)

(t − s)δ
ds ≤ 1

K
���� �	
	 t ∈ [η, t′1] - N ≥ N0. @8&11B



)7$ ��#�����2"���� 
�!&��" 4�

�� @8&1>B - @8&11B - �� 
�)�
�
#� 
� fN �� �
���  ��

fN(t) ≤ C +
K

K
= C + 1 ���� �	
	 t ∈ [0, t′1] - N ≥ N0, @8&14B

�	�	  ���$��	�&

�	��������������' 
� @8&9B - @8&14B �� �
���

∥∥zN (t) − z(t)
∥∥

δ
≤ C + 1 ���� �	
	 N ≥ N0 - t ∈ [0, δN ],

�	  �� 
���
��  ��

∥∥zN (t)
∥∥

δ
≤ M + C + 1 ���� �	
	 N ≥ N0 - t ∈ [0, δN ].

*�� ��	�� N ≥ N0 ).	& ���	���� zN (t) �%
��� �� [0, t′1] - ���� t ∈ [0, t′1]'
∥∥zN (t)

∥∥
δ

<

M+C+2& �� �"���	' ���	����	�' �	� �� �	�����
	'  �� �%
��� t∗ ≤ t′1 ���  ��
∥∥zN (t∗)

∥∥
δ

=

M +C+2 -
∥∥zN (t)

∥∥
δ
< M +C+2 ���� 0 ≤ t < t∗& ���	����' �	� @8&9B

∥∥zN (t) − z(t)
∥∥

δ
≤

fN(t) ≤ C +1 �� [0, t∗]' - �	� �	 ����	
∥∥zN (t)

∥∥
δ
≤ M +C +1 �� [0, t∗]' ����	

∥∥zN (t∗)
∥∥

δ
≤

M + C + 1'  �� �	����

��
∥∥zN (t∗)

∥∥
δ

= M + C + 2&

D���� �� �	����	 �� �� ��	��
	  �� ���� �	
	 N ≥ N0'
∥∥zN (t)

∥∥
δ
< M +C +2 ����

�	
	 t ∈ [0, t′1]& �	� �	 ����	' ���� N ≥ N0' δN ���
� ����
��� ����
�������� ��-	� � t′1 -

�� �	��������
� @8&9B �� ������ �� [0, t′1]' �� 
��
�∥∥zN (t) − z(t)
∥∥

δ
≤ fN(t), ���� �	
	 t ∈ [0, t′1].

�
��������' �	� �� ��	���� 
� �� �	�!������
� �	�
��
� fN(t) → 0 ���� �	
	 t ∈ [0, t′1]

����
	 N → ∞ - �� ��	���� ���� ��	��
	& ❏

D���� � �$ ���	� !
��	  �� ��� �	���
	��� 
�� ��	����� �� 

����
#� )�
�� @8&1B

�	�!����� � �� �	���
#� 
�� ��	����� @7&8B& � ��� �� �� ��	����� ��� �������� � �
!��

�	������
	���' ���	 �+� 
����	� ����� ��� 

�����
(��
#� �� �� !��
���� t' - !��  �� ����

�	�!����& /� �
��
���� ����
#� ����� ���� ��	�����&

+�� (�	�����#���
� 9�������

�� ���� ����
#� ��
���	 ���	�������	� �� �����������
#� 
�� ��	����� ���	%
����� @8&1B

�� ����
�	� 
� �	� �	�)�
����� 
� �� �	���
#� �� �� ���� β̂N 
� ZN & /���	 
�)�
���	�
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�� 

�����
(��
#� ����	���  �� ��
�
(����	� - � �	��
����
#� �� !��� �� �������
	 
�

�	�!������
� - �����
�

�
 
�� ���	
	 ����������&

/�����	� wN �� !���	� ��-�� �	��	������ �	� �	� �	�)�
����� 
� �� �	���
#� zN (t) =⎛
⎝uN(t)

vN(t)
θN(t)

⎞
⎠ 
�� ��	����� @8&1B �� �� ���� β̂N & /���	 wN �� �	���
#� 
�� �E�

{
ẇN(t) = ÃNwN(t) + F̃ (t, wN(t))

wN(0) = γN
@8&16B

�	�

ÃN =
(
QN

)−1
KN , F̃ N(t, w) =

(
QN

)−1
RNF (t, QNw), γN =

(
QN

)−1
RN

⎛
⎝u0

v0

θ0

⎞
⎠ ,


	�
� ��� ����
��� QN ' KN ' - �� ����	 RN : ZN → R3N �� 
�)��� �	�

(
QN

)
i,j

=
〈
βN

i , βN
j

〉
,

(
KN

)
i,j

=
〈
βN

i , ANβN
j

〉
,

(
RNz

)
i
=
〈
βN

i , z
〉
,

i, j = 1, 2, . . . , 3N &

���� �� 

�����
(��
#� ����	��� 
�)�
�	� �� �
��
���� �� ���� ���
2
���$�
�	 
� �����0

wN
0 = γN

1

Δt

(
wN

k+1 − wN
k

)
= ÃNwN

k+1 + F̃ N(kΔt, wN
k ), k = 0, 1, . . . .

/� �	�!������
� 
� ��� �	���
	��� 
�� �
����� �	����������� 

�����
(�
	 � �� �	���
#�


� @8&16B ����
	 Δt → 0 �� �
��� 
���

�������� 
�� �
��
���� ��	����&


����!" )7- ��� n �� ������ 
�������$ B ∈ L(RN)$ G : [0, T ]×Rn → Rn ��� "����	�

�������� ��� ��� G(t, ·) �� -�
������ �������� �� Rn 
��� ���� t ∈ [0, T ]$ ��� ��������� K

����
�������� �� t& ��
����
�� ��� �� �>?{
W ′(t) = BW (t) + G(t, W (t)), W (t) ∈ Rn,

W (0) = W0

����� ��� 5���� ������	� W (·) �� [0, T ] ��� ��� W ′′(t) �� ������� �� [0, T ]& +��� 0 <

h < 1/‖B‖ � w0 ∈ Rn �����
�� N(h)
.
= [T/h] .�� 
���� ������ �� N/h/ � ���� w0$



)7$ ��#�����2"���� 
�!&��" 4*

�����
�� wj$ j = 1, 2, . . . , N(h) 
��

wj+1 = wj + hBwj+1 + hG(jh, wj), j = 0, 1, . . . , N(h) − 1.

'�������$ �(���� ��� ��������� C̃ ��� ���

max
j=0,1,...,N(h)

|W (jh) − wj| ≤ eT( K+‖B‖
1−h‖B‖)|W0 − w0| + hC̃

[
eT( K+‖B‖

1−h‖B‖) − 1
]
.

1�� �5�$ �� h < 1/(2‖B‖)$ ��������

max
j=0,1,...,N(h)

|W (jh) − wj | ≤ e2T (K+‖B‖)|W0 − w0| + hC̃
[
e2T (K+‖B‖) − 1

]
.


�!���"���7 �	 �� 

"$�
� 
��	�����  �� ��� �	�����
	��� 
� ���� ��	���� �������2

��� !��

�� ��.	 ��� �	�

�
	��� ��� 
��
��� 
� G �	�������� /
����
�( - W ′ /
����
�(

�	��
���&

+�
�������	�& *�� 0 < h < 1/‖B‖ - 
�)���	� Wj = W (jh)& ?���
	 �� ��	���� 
�

���	%
���
#� 
� ��-�	�

Wj+1 = Wj + hW ′(jh) +
h2

2
W ′′(ξj,h)

= Wj + hBWj + hG(jh, Wj) +
h2

2
W ′′(ξj,h),


	�
� ξi,j ∈ (jh, (j + 1)h)& ��)�
��
	 ej = Wj − wj �� �
���  ��

ej+1 = ej + hB(Wj − wj+1) + h [G(jh, Wj) − G(jh, wj)] +
h2

2
W ′′(ξj,h)

= ej + hBej+1 + h [G(jh, Wj) − G(jh, wj)] + hB(Wj − Wj+1) +
h2

2
W ′′(ξj,h),

	' � �
!�����������

ej+1 − hBej+1 = ej + h [G(jh, Wj) − G(jh, wj)] + hB(Wj − Wj+1) +
h2

2
W ′′(ξj,h).

�	� �	 ����	'

(1 − h‖B‖)|ej+1| ≤ |ej| + h |G(jh, Wj) − G(jh, wj)| + h‖B‖|Wj − Wj+1| + h2

2
|W ′′(ξj,h)|

≤ |ej| + hK|ej | + h2‖B‖
∣∣∣W ′(ξ̃j,h

∣∣∣ + h2

2
|W ′′(ξj,h)|
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	�
� ξ̃j,h ∈ (jh, (j + 1)h)&

*
 C �� ��� �	�� �����
	� ���� |W ′(t)| + |W ′′(t)| �� [0, T ]' �� �
���  ��

|ej+1| ≤ 1 + hK

1 − h‖B‖|ej| + h2C(1 + ‖B‖)
1 − h‖B‖ .

�	� 
�
���
#� �� �
���  ��

|ej | ≤
[

1 + hK

1 − h‖B‖
]j

|e0| + h2C(1 + ‖B‖)
1 − h‖B‖

[
1+hK

1−h‖B‖

]j

− 1[
1+hK

1−h‖B‖

]
− 1

.

��	�� �
��' �	�	 (1 + x)j ≤ ejx ���� �	
	 x > −1 - j ∈ N' 	������	�

[
1 + hK

1 − h‖B‖
]j

=

[
1 + h

K + ‖B‖
1 − h‖B‖

]j

≤ ejh( K+‖B‖
1−h‖B‖) ≤ eT( K+‖B‖

1−h‖B‖)

- [
1+hK

1−h‖B‖

]j

− 1[
1+hK

1−h‖B‖

]
− 1

=

[
1+hK

1−h‖B‖

]j

− 1

h
[

K+‖B‖
1−h‖B‖

]
− 1

.

�	� �	 ����	

|Wj − wj | ≤ e
T( K+‖B‖

1−h‖B‖)|W0 − w0| + hC
1 + ‖B‖|
K + ‖B‖

[
e

T( K+‖B‖
1−h‖B‖) − 1

]

���� �	
	 j = 0, 1, . . . , N(h)& ���	 ������ �� ��
���� ����� 
�� ��	����& /� �)����
#�

)��� �� �
��� 
�� ����	  �� 1 − h‖B‖ > 1/2 �
 h < 1/2‖B‖& ❏


�!���"���7 �� ��	���� �����
	� .���	 �	� �� �������
	 
�� ��	���� 8&6 ������� ��

�	�!������
� 
�� �
����� 

�����
(�
	 �� �����
	 - �
���	 � ��� �	���
	��� 
� @7&8B ����
	

N → ∞ - Δt → 0 
� ���+� �	
	 ���	�
�
	& ��� �+�' ���� N ).	' �� ��	���� 8&7 

��

 �� �� 	�
�� 
� �	�!������
� ���� ��� �����
	��� 

�����
(�
�� �� �
���	 � �� �	���
#�


� @8&16B �� O(Δt)&

+�" 8�	����
�	 ���3����	

�� ���� ����
#� ��
�
(����	� �� ���	�
��	 ���������� 
� ��� ���	%
���
	��� �	
���� 
�2

��	
��

�� �� �� *���
#� 8&1 - 
� �� 

�����
(��
#� ����	��� ��������
� �� �� *���
#� 8&4
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���� 	������ ���	%
���
	��� 
� �� �	���
#� �� ��	����� 
� !��	��� 
�
�
���� @7&8B  �� ��

� �
!������ �� ��	����� 
� !��	��� 
�
�
���� - 
� "�	����� @7&6B�@7&7B& /� 
�����
#� �� !��

�%���
����������� �
 �� �	���
#� �
����' �� ���	� ����
���
!������' �� �	��	����
���	


� �� �#�

	 ��


����
	��� 
� �����
�� �	� ���	�
� 
� "	��� ��.	 

"������� �	�

�
	���


�
�
����' ���
	��� 
� "���(� - ���
���
#� 
� ���	� �%������&

���� �	� �%���
����	� �����
�	�  �� ���������	� � �	��
����
#� ���	� ��
�
(�
	 ��

���	
	 �%�����	 �� �� ����
#� �����
	� �	� N = 32 - Δt = 10−5 - �	� !��	��� 
� �	� ����2

����	� 
�"	���
	� �	� ���R �� F47G ���� �� �����
#� ��23��30S�470 α2 = 24 P ��−3 Q−1'

α4 = 1.5 × 105 P ��−3' α6 = 7.5 × 106 P ��−3 Q−1' θ1 = 208 Q' Cv = 2.9 P ��−3 Q−1'

k = 1.9 H ��−1 Q−1' ρ = 11.1 � ��−3& ����
�� �	���	� γ = 10−12 P ��−1 �	�	 "��

���	���
	 �� F49G& ���� β �	���	� β = 1& ���� �����
#� �	 �
��� �
��+� �
��
)��
	 "$�
�	

����
�����& � ������	 �	�	�
�
���	' �	 �� ��� ���	���
	 �+� !��	��� 
� β ���� �����
����

������' ��� �� ������ ����� �!

���
�  �� ���� �����	� �����
���� �	� ���	�
� 
� "	���

β �� ��- �� ��,	 	 ���	&
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�/&���!���� �8 '����� '����������� � )�*� 0�

�������

�� ���� �%���
����	 �	���	� f = g = 0' θ0(x) ≡ 200 Q' u0(x) = P Nh(x)' 
	�
�

h(x) =

{
0.05 x, �
 0 ≤ x ≤ 0.5,

0.05(1 − x), �
 0.5 ≤ x ≤ 1,

- v0 ≡ 0& �� 
��
�' �� !
�� �� ��������� 
�
�
������� �� �� ����	 
� ��.�� ������������

�	������	 
� 
	� �������	� 
� �������
��' � �����' �������
�� �+ �� 0 ≤ x < 1
2
-

�������
�� �− �� 1
2

< x ≤ 1 @�	� ��� 
�"	����
#� 
�
�
�� 
�� 8UB& /� �!	���
#� 
��


�����(��
���	 - �� ����������� ���
� !���� �� ��� �
����� 8&1� - 8&1�' �������
!������&

���� �!	���
#� �� 
��� �  �� �� �	�

�
#� 
�
�
�� z0(x) =

⎛
⎝u0(x)

v0(x)
θ0(x)

⎞
⎠ �	 �� ����
	 �����
	2

���
	 
�� �
����� @7&8B& �� �
����� �!	���
	�� �����  �� �� ����� � �� ����
	 �����
	���
	

�	������	 
� 
	� �������	� �
����
�	� 
� �������
�� �+ - �− @
�"	����
#� ∼= 11.25%B

- ����������� �	������� ∼= 222 Q& /� �
���� 8&1� ������� �� ��-	� 
������ �� 
�����(�2

�
���	 
������ �	� ��
���	� 48> �
�
�����
	�&

@�B @�B

@�B

�
���� 8&10 ����
	 �����
	���
	 � ��.�
�����������& �!	���
#� 
�� 
�����(�2
�
���	 @�'�B - ����������� @�B � ����
�

� ��� �	�

�
#� 
�
�
�� �	 �����
	���
�&



)7* ��#� �"��# ��!%����# 44

�/&���!���� $8 '����� '����������� � ���� 0�

�������

� �$ �	���	� θ0(x) ≡ 600 Q - u0' v0' f ' - g �	�	 �� �� �%���
����	 1& /� �!	���
#�


�� 
�����(��
���	 - 
� �� ����������� �� ������� �� ��� �
����� 8&4� - 8&4�' �������
!�2

�����& /� !
�� 	��
�� �����  �� �� ����� �� ����
	 �����
	���
	 �	��
������ 
� 
�"	����
#�

���� - ����������� �	������� θ ∼= 505.6 Q& ���� �	��	����
���	 ���� 
� �����
	 �	�

�� ����	  �� �	� ���
�� 
� �� ����������� ��������������� @)� 
� �� "��� ������$�
��B

θ = Af @�� ���� ���	 Af
∼= 283 QB �	� ����
	� �����
	���
	� ���
�"���� u ≡ 0 - θ = const&

���

	 �� ����
	 
�
�
�� �	 �����
	���
	 � ���� �����������' �� !
�� 
���

�������� ��


��
	��� ���	%
���
	�� �� ����
	 u ≡ 0 �
������  �� �� ����������� 
������ ��!������'

	�
�
���
	 ��� 	��
���
	��� ��	��
���
��  �� �� 	����!�� �� ��� �
����� 8&4� - 8&4�& ��

�� �
���� 8&4�' ���
�� �����
���� ��� 	��
���
	��� 
�� ����	 ��

	 
� �� !
��&

@�B @�B
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t

@�B

�
���� 8&40 ����
	 �����
	���
	 � ��2
�� �����������& @�B ���)� 
�� 
�����2
(��
���	A @�B ���)� 
� �� �����������A
@�B 
�����(��
���	 
�� ����	 ��

	&
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�/&���!���� *8 ����� � )�*� 0�

�������

�� ���� �%���
����	 ������

�	� ����

�� �	� �"���	� 
� ��� "���(� 

���
��

� �	�2

�
������ 
� �� ����	 
� "���(� ����
�
	� 
�� ����	 ��

	 
� �� !
�� ����
	 �� �������2

���� 
�
�
�� ���� 
���.	 
� �� ����������� 
��������������� @)� 
� �� "��� �������$�
��B

θ = Mf
∼= 208 Q& *� �	�# u0(x) = v0(x) ≡ 0' θ(x) ≡ 200 Q' g(x, t) ≡ 0' -

f(x, t) =

{
5 × 104, �
 0.4 ≤ x ≤ 0.6 - 0 < t < 0.5 × 10−3

0, �� 	��	 ���	&

��
�
�������' �	� ����	� ����
�
	� 
�� �����	 �� 
�����(�� ���
� ���
�� �
������ ��

�"���	 
�� ����	 �� ��	���� ���
� �	� �%����	� 
� �� !
�� @�
����� 8&6� - 8&6�B& �� ��

�
��	 
������� ��  �� ���� �"���	 �����(� �	� �%����	�' �� ����	 ��

	 ����� � �� ��%
�	

- �� ��,�� 	��
���
	��� ��	��
���
�� �	�
��(�� � 	����
� @�
���� 8&6�B ����
�
	� 
��

����
	 )��� 
� � �
�
��
	 �	��
������ 
� 
	� �������	� �
����
�	� 
� �������
�� �+' �−

@
�"	����
#� ∼= 11.05%B - ����������� �	������� 226 Q @�
���� 8&6�B&

@�B @�B

@�B

�
���� 8&60 ����	 � ��.� ���������2
��& @�B' @�B ���)� 
�� 
�����(��
���	A
@�B ���)� 
� �� �����������&
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�/&���!���� -8 ����� � ���� 0�

�������

�� ���� ���	 
�!���
���	� �	� �"���	� 
� �� ����	 ����
�
	� 
�� ����	 ��

	 
� �� !
��'

 �� ������ 
�
�
������� � ����������� �	������� ��-	� � Af & *� �	�# θ0(x) ≡ 600 Q

- u0' v0' f ' - g �	�	 �� �� �%���
����	 6& �� ��
��
�
	' �� !
�� �� 
	��� ���
� ���
��

�����  �� �� ��
�
�� �� ���
���
#� 
� �� "���(� @�
���� 8&7�B& ����

�������� 
������'

�	�
��(�� � 	����
� 	��
���
	��� ��	��
���
�� ����
�
	� 
�� ����
	 )��� 
� � �
�
��
	

u ≡ 0 - ����������� �	������� θ ∼= 602 Q @�
����� 8&7� - 8&7�B& C��	�
��	�  �� �	���

�� ����������� 
� )���
(��
#� 
� �� "��� ������$�
�� �� +�
�	 ����
	 �����
	���
	 �� u ≡ 0

- θ ≡ const&

@�B @�B

@�B

�
���� 8&70 ����	 � ���� ���������2
��& @�B' @�B ���)� 
�� 
�����(��
���	A
@�B ���)� 
� �� �����������&
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�/&���!���� )8 '�
���� � ��������

�� ���� �%���
����	 	����!��	� �	� �"���	� 
� �������� �� !
�� ����
	 
�
�
�������

���� �� �� ����
	 
� � �
�
��
	 �	��
������ 
� 
	� �������	� �
����
�	� 
� �������
�� �+ -

�−& ���� ���	 �	���	� �	�	 ����
	 
�
�
�� �� ����
	 �����
	���
	 )��� 
�� �%���
����	 1

@
�"	����
#� 
�
�
�� 11.25% - θ0(x) ≡ 222 QB' f(x, t) ≡ 0 - �� "����� 
� ���	� g(x, t)

�	��
������ 
� �� ����	 
� ���	� 

���
��

	 ��
"	�������� �	�	 �
���

g(x, t) =

{
5 × 104, �
 0.2 < t < 0.25,

0, �� 	��	 ���	.

�� �
����� �� ����
��� �� �� ����
	 
�
�
�� �����  �� �� ���
�� �� ����	 
� ���	�& ��

���� �	����	 �� ����������� �	�
��(� � ������ @�
���� 8&8�B' �	� ��
������ 
� ������2

�
�� �� �	�!
����� �� ������
�� - �� !
�� �� 
��
	��� �	�����
	 �� ��,�� 	��
���
	���

��	��
���
�� ����
�
	� 
�� ����
	 
� 
�"	����
#� ���� @�
���� 8&8�B& ����� 	��
���
	���


���������� ���

	 - �� !
�� �����(� �� ����
	 �����
	���
	 u ≡ 0' θ ∼= 336 Q&

@�B @�B

�
���� 8&80 ������� - ��������& @�B' @�B ���)� 
�� 
�����(��
���	A
@�B ���)� 
� �� �����������&
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���� � '�"����

���� ���� �%���
����	 �	���	� ���!������ �	�	 ����
	 
�
�
�� �� ����
	 )��� 
��

�%���
����	 1& ����
�� �� �	�# f(x, t) ≡ 0 - ��� "������ 
� ���	� 

���
��

�� g(x, t)

�	��
������� 
� �� ����	 
�
�
�� ��
"	�������� 

���
��

	  �� �� ������
� 
������ 
�

t = 0.05 ���& - ����
	 t = 1.45 ���& �� ���
�� �� ����	 	�����	 ����� t = 1.50 ���& ����
	

�� ������
� ���!������& ��� ����
�������'

g(x, t) =

⎧⎪⎨
⎪⎩

8 × 103, �
 t < 0.05,

−8 × 103, �
 1.45 < t < 1.50,

0 �� 	��	 ���	.

/� ����������� ����� ��
"	�������� ����� ���	%
��
������ 336 Q �
������ �� !
��

�� ���	%
�� �� ����
	 
� 
�"	����
#� ����& �������  �� �� ������
� �� ����	 
� ���	�'

�� ����������� ��������� � 336 Q �
������  �� �� 
�����(��
���	 ������� �� ��,��

	��
���
	��� ��	��
���
�� ����
�
	� 
� u ≡ 0& /� ������� ���� ��	�� �	����������� ��

�� "��� ������$�
��& ����
	 t = 1.45 ���&' �� ���
��� �� ����	 	�����	' �� �����������


������ ��
"	�������� - )�������� ��������� ���	%
��
������ � 222 Q' �
������  ��

�� !
�� ��"�� �� ��	���	 
�!���	  �� �� ���!� �� ����
	 
�
�
�� 	�
�
��� �	�����
	 �� �"���	


� ���	�
� 
� "	��� 
� 
	� !$�� @�;��;�� ���
� 
�
��� �A���B& �
����� 8&9�2
&
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@�B @
B

�
���� 8&90 �������� ������� ��"�
��& @�B ���)� 
�� 
�����(��
��2
�	A @�B ���)� 
� �� �����������A @�B 
�����(��
���	 
�� ����	 ��

	A
@
B ����������� 
�� ����	 ��

	&



�
������ )

��
 '��	


	�� ��� '�*��	��� ��
��
�	�	��
�	+

	��

�� ���� ���$���	 ��
�
(����	� �� ���	�
��	 
� ����
�
����
(��
#�  �� �� �%���	 �� �� *��2

�
#� 4&1 ���� 

���
)��� �	� ��������	� α2' α4' α6 - θ1 
�� ��	����� 
� !��	��� 
�
�
����

- 
� "�	����� @7&6B�@7&7B&

�� �� *���
#� 9&1 
����	� �� �������
	 �	��� �� 

���
)���
�

�
 
� �	� ��������	�

α2' α4' α6 - θ1 
�� �
����� @7&6B�@7&7B& �� �� *���
#� 9&4 �	�������	�  �� ��- �������

�
����
	��� ��  �� �	� ��������	� ����
	��
	� ���
�� �	 ���
�� ��� 

���
)��
	� 
��

	

�  �� �%
���� 

!���	� .���	� 
� ��������	�  �� 
�� ����� � �� �
��� �	���
#�& �� ��

*���
#� 9&6 �	�����	� �	�	 	����!��
	��� 
��	� �
����
�	� ������
	� �	� �� �	�����
	��

���	�!
��
	 �����
������� ��� �����
	��� - ���
�����	� �� ���	�
��	 
� ����
�
����
(��
#�

�	� ��	� 
��	�' ���� �	���	���  �� �� ���	�
��	 �"���
!������ "���
	�� �� �� �����
�� -

�
 �
��� ����

	 
������� ����
(�� �� 

���
)���
#� �	� 
��	� �%���
��������&

-�� �
����%������
�
 
� ���0�����	

� M��	��	 �	
	N �� ���������������� �� 
���
����� ���
� 
�)�
��� �	�	 �� �	��
��

�


� 
�!���
�
�

�
 �	��� 
�� ����	 q → z(t; q) 
�� �	�.���	 Q 
� ��������	� �
�
�
����

�� �� �����
	 
� �	���
	���& �� �
��
���� ��	���� ������� �� �������
	 �	�����
����

� �� 
�!���
�
�

�
 
�� ����	 q → z(t; q) 
	�
� z(t; q) �� �	���
#� 
� @7&8B' �	� A -

F (q, t, z) 
�
	� �	� @7&5B - @7&:B' �������
!������& �� �� *���
#� 9&6 !����	� �� �������
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�����
	��
	 �	� �� �	��
��

�
' 
	�
� �
���� !����	�  �� �%
��� �� 
��
!�
� 
� �������


� z(t; q) �	� �������	 � q - �� q2/
����
�( �	��
���&


����!" 07� ���� δ ∈ (3
4
, 1)$ q = (α2, α4, α6, θ1) ∈ Q$ � q̃ = (α̃2, α̃4, α̃6, θ̃1) ∈ Q& ���

z0(x) =

⎛
⎝u0(x)

v0(x)
θ0(x)

⎞
⎠ ∈ Zδ

� ��
����
�� ��� ��� ���������� z(t; q) � z(t; q̃) �� @7&8B ��������� �� T1 ≤ t ≤ T2 
���

���5� 
�� �� ������� 0 ≤ T1 < T2& ��
����
�� ���
�� ���

z(t; q) =

⎛
⎝u(·, t)

v(·, t)
θ(·, t)

⎞
⎠

�� ��� ��� v(·, t∗) �≡ 0 
��� ���5� t∗ ∈ (T1, T2)& '������� q = q̃&


�!���"���7 �	���	�  �� ��� �
�#���
� 
� ���� ��	���� �� ���
�"���� �
 T1 = 0 - ��

�	�

�
#� 
�
�
��

z0(x) =

⎛
⎝u0(x)

v0(x)
θ0(x)

⎞
⎠

�� ��
�� 
� ��� �	
	  �� v0 �≡ 0& = �
��' �
 �� ��
�� ��� "���
#� f(x, t) 
� "���(��



���
��

��  �� ��� ����( 
� �	���� �� 
�����(��
���	 "���� 
� �� �	�
�
#� 
� � �
�
��
	&

+�
�������	�& �	�	 v(·, t∗) �≡ 0 - v(0, t∗) = v(1, t∗) = 0 �	� ��� �	�

�
	��� 
� "�	�����'

�%
��� x̂ ∈ (0, 1) ���  �� vx(x̂, t∗) �= 0& �	� �	��
��

�
 vx(x̂, t) �= 0 �� t∗ − ε < t < t∗ + ε

���� ���+� ε > 0& ��
	  �� vx = uxt 
��� �%
��
� t̂ ∈ (t∗ − ε, t∗ + ε) ���  ��

ux(x̂, t̂) �= 0 @9&1B

�	� 	��	 ��
	'

ż(t; q) = Az(t; q) + F (q, t, z(t; q)), -

ż(t; q̃) = Az(t; q̃) + F (q̃, t, z(t; q̃)), ∀t ∈ [T1, T2].
@9&4B

/���	' �	�	 z(t; q) = z(t; q̃) ���� �	
	 t ∈ [T1, T2]' @9&4B 
���
��

F (q, t, z(t; q)) = F (q̃, t, z(t; q̃)) ∀t ∈ [T1, T2], @9&6B
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- ����
	 �� 
�)�
�
#� 
� F (q, t, z)'

∂

∂x

[
2α2

(
θ(x, t) − θ1

)
ux(x, t) − 4α4ux(x, t)3 + 6α6ux(x, t)5

]
=

∂

∂x

[
2α̃2

(
θ(x, t) − θ̃1

)
ux(x, t) − 4α̃4ux(x, t)3 + 6α̃6ux(x, t)5

]
@9&7B

-

α2θ(x, t)ux(x, t)vx(x, t) = α̃2θ(x, t)ux(x, t)vx(x, t) @9&8B

���� �	
	 x ∈ (0, 1)' t ∈ [T1, T2]&

�� @9&8B �� �
���  ��

(α2 − α̃2) θ(x, t)ux(x, t)vx(x, t) = 0 ∀x ∈ (0, 1), t ∈ [T1, T2].

�	�	 ux(x̂, t̂)vx(x̂, t̂) �= 0 - θ(x, t) > 0' �	����
�	�  �� α2 = α̃2& /���	' @9&7B ����

uxx(x, t)
(
2α2

(
θ1 − θ̃1

)
+ 12

(
α4 − α̃4

)
ux(x, t)2 − 30

(
α6 − α̃6

)
ux(x, t)4

)
= 0 @9&9B

���� �	
	 x ∈ (0, 1)' t ∈ [T1, T2]&

��	�� �
��' �
 uxx(x, t̂) "���� 

���
������� ���	 �� (0, 1)' ���	����' �	� ��� �	�

�
	���


� "�	�����' ���
�$��	�  �� u(·, t̂) ≡ 0 - ux(·, t̂) ≡ 0' �	  �� 	�!
������ �	����

�� @9&1B&

�	� �	 ����	' 
���� �%
��
� �	�������� a - b' 0 < a, b < 1 �����  �� uxx(x, t̂) �= 0 ����

a < x < b' �	  �� 
���
��  �� ux(x, t̂) �	 ���
� ��� �	������� �� (a, b)& ���	���� ���

"���
	��� 1' ux(x, t̂)2' - ux(x, t̂)4 �	� �
��������� 
�
����

����� �	�	 "���
	��� 
� x ��

(a, b)& �	� �	 ����	' @9&9B 
���
��  �� α4 = α̃4' α6 = α̃6' - θ1 = θ̃1& ❏

-�� �� �
����%������
�
 
� ���0�����	

�� ���� ����
#� !����	�  �� �
 �� �	�� �� ����
	 �����
	���
	 
�� �
�����' ���	����

�%
���� 

"������� .���	� 
� ��������	� ���� �	� ������ �� ����
	 �����
	���
	 �� �	���
#�


�� ��	�����&


����!" 07$ ���� A � F (q, t, z) �������� ��
� �� @7&5B � @7&:B$ ���
������
����$ ���

f(x, t) ≡ g(x, t) ≡ 0$ � ��� q ∈ Q& ��� z =

⎛
⎝u(x)

v(x)
θ(x)

⎞
⎠ ∈ D(A) ��� ��� Az + F (q, t, z) = 0$

��������$ �(����� �������� q̃ ∈ Q ��� ��� Az + F (q̃, t, z) = 0&
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+�
�������	�& �	� �� 
�)�
�
#� 
� A - F (q, t, z)' �
 z =

⎛
⎝u(x)

v(x)
θ(x)

⎞
⎠ �� ���  �� Az +

F (q, t, z) = 0 �� �
���  ��

v(x) ≡ 0, x ∈ [0, 1], @9&5B

ρβv′′(x) − γu(4)(x) + 2α2θ
′(x)u′(x) + 2α2(θ(x) − θ1)u

′′(x)

− 12α4u
′′(x)u′(x)2 + 30α6u

′′(x)u′(x)4 = 0, @9&:B

kθ′′(x) + 2α2θ(x)u′(x)v′(x) + βρv′(x)2 = 0. @9&<B

�� @9&5B �� �
���  �� v′(x) = 0 �� (0, 1) - ���	���� 
� @9&<B' - ���
��
	 �� ������ ���

�	�

�
	��� 
� "�	����� θ′(0) = θ′(1) = 0' �� �
���  �� θ(x) ≡ const - �	� ��
� θ′(x) = 0

�� (0, 1)& /���	' @9&:B �� �����"	��� ��

−γu(4)(x) + 2α2(const − θ1)u
′′(x) − 12α4u

′′(x)u′(x)2 + 30α6u
′′(x)u′(x)4 = 0,

�����
#�  �� �� ���
�"��� ���� ���� �
�� ��� 
� �	�������� �	�
�
!�� α̃2 - θ̃1  �� �������

α̃2(const − θ̃1) = α2(const − θ1)

❏

-�" �	������
� 
� ��	 ���0�����	

�� ���� ����
#� ��
�
(����	� �� ���	�
��	 
� ����
�
����
(��
#� 
���	
��

	 �� �� *���
#�

4&1 ���� 

���
)��� �	� ��������	� α2' α4' α6' θ1  �� 
�)��� �� "���
	��� 
� �����$� �
���

Ψ 
�� �
�����' ���	 ��
���	 !��
)�����	�  �� �� ������� ��� �	�

�
	��� �	��� A - F

 �� �������� �� �	�!������
� 
�� ���	�
��	 
� ����
�
����
(��
#�&

�� �
��
���� ��	���� �������  �� �� 	����
	� A - �� "���
#� F 
�)�

	� �� @7&5B

- @7&:B' �������
!������' ���
�"���� �
����� �	�

�
	��� 
� �������

�
'  ��' ���
��
	 ��

������ �	� ��	����� 6&4 - 6&6 �������� �� �%
�����
� - �	��
��

�
 /
����
�( �	��� 
� ��


��
!�
� 
� ������� 
�� ����	 q → z(t; q)&
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����!" 07* ���� Z$ A � F (q, t, z) ��� �������� �� �� �����	� B&< ��� ��� ��
	�����

�� ����������� ����� f(x, t) � g(x, t) ���, 
����������& '������� �� 
�
�� (q, z(·)) →
F (q, t, z(·)) �� Q × L∞(0, T : Zδ) �� L∞(0, T : Z) �� ��"���������� ��7���� �� �
���

���������& ���
��$ ��� 
�
��� (q, z(·)) → Fq(q, ·, z(·)) � (q, z(·)) → Fz(q, ·, z(·)) ���

�����
���� -�
������ ��������� �� Q × L∞(0, T : Zδ) �� L∞(0, T : L(Q̃, Z)) � �� Q ×
L∞(0, T : Zδ) �� L∞(0, T : L(Zδ, Z))$ ���
������
����&

+�
�������	�& ���� �������
	 �� 	��
��� 
���

�������� 	����!��
	  �� f2(q, t, z) -

f3(q, t, z)' �	�	 ��� �

	 
�)�

�� �� @7&<B �	� 

"�����
����� ������� �	� �������	 � q -

z& ��� �+�' ����� 
��
!�
�� ���
�� ���������� �%��$�
������� - ����� 
�
�� �	�

Dzf2(q, t,

⎛
⎝u

v
θ

⎞
⎠)

⎛
⎝ũ

ṽ

θ̃

⎞
⎠ = f2,uũ + f2,vṽ + f2,θθ̃,

Dzf3(q, t,

⎛
⎝u

v
θ

⎞
⎠)

⎛
⎝ũ

ṽ

θ̃

⎞
⎠ = f3,uũ + f3,vṽ + f3,θθ̃,

Dqf2(q, t,

⎛
⎝u

v
θ

⎞
⎠) =

1

ρ

[
2θ′u′ + 2(θ − θ1)u

′′,−12(u′)2u′′, 30(u′)4u′′,−2α2u
′′] ,

Dqf3(q, t,

⎛
⎝u

v
θ

⎞
⎠) =

1

Cv

[2θu′v′, 0, 0, 0] ,

�	�
� �	� 	����
	��� �
������ fi,u' fi,v' - fi,θ' i = 2, 3 ����� 
�
	� �	�

f2,u =
1

ρ

{
2α2θ

′D + 2α2(θ − θ2)D
2 − 24α4u

′u′′D − 12α4(u
′)2D2

+ 120α6(u
′)3u′′D + 30α6(u

′)4D2
}
,

f2,v = 0,

f2,θ =
1

ρ

{
2α2u

′D + 2α2u
′′},

f3,u =
1

Cv

{
2α2θv

′D
}
,

f3,v =
1

Cv

{
2α2θu

′D + 2βρv′D
}
,

f3,θ =
1

Cv

{
2α2u

′v′},
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	�
� D 
��	�� �� 	����
	� 
��
!�
� �	� �������	 � x& ❏

�	� �� ��	���� �����
	� !��	�  �� �� ������� ��� �
�#���
� 
� �	� ��	����� 6&4 - 6&6&

�	� �	 ����	 �� �
��� �� �	�!������
� 
�� ���	�
��	 
� ����
�
����
(��
#� 
�)�

	 �� ��

*���
#� 4&1& � �	��
����
#� ��
�
(����	� ���� ���	�
��	 ���� 

���
)��� �� ��������	

q = (α2, α4, α6, θ1) �� �� �
����� 
� �����
	��� �� 
��
!�
�� ����
���� @7&6B  �� �	
���'

�	�	 -� ���	� ����
	��
	' �� �	��	����
���	 
� �� �#�

	 ��


����
	��� �	� ���	�
�


� "	���&

�� �	� �.����	�  �� �
���� �����	� ��	 
� �	� �
��	� !��	��� 
� �	� ��������	�  ��

�� ��
�
(��	� ���� �� ���	���
#� �����
�� 
� ��� �����
	��� �� �� ���$���	 8& ���	� !��	���

�	�0 α2 = 24 P ��−3 Q−1' α4 = 1.5×105 P ��−3 ' α6 = 7.5×106 P ��−3 Q−1' θ1 = 208 Q'

Cv = 2.9 P ��−3 Q−1' k = 1.9 H ��−1 Q−1' ρ = 11.1 � ��3' β = 1' - γ = 10−12 P ��−1&

������	� ���
��� q∗ = (α2, α4, α6, θ1) = (24, 1.5 × 105, 7.5 × 106, 208)&
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�C�!& � �8 +���� '(�����

�� ���� ��
��� �.����	 
�!���
���	� �� �	��	����
���	 
�� ���	�
��	 ����
	 ���	��2

�	� �� �%
�����
� 
� �� q∗  �� �.���� �%��������� �	� 
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	� F : [0, T ] × D(F ) → Z �	�

F (t, z) =

⎛
⎝ 0

f2(t, z)
f3(t, z)

⎞
⎠ @5&1B
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�

ρf2(t,

⎛
⎝u

v
θ

⎞
⎠) =

d

dx

[
2α2 (θ(x) − θ1)u′(x) − 4α4u

′(x)3 + 6α6u
′(x)5

]
, @5&4B

Cvf3(t,

⎛
⎝u

v
θ

⎞
⎠) = 2α2θ(x)u′(x)v′(x) + βρv′(x)2. @5&6B

- D(F ) = H2(0, 1)×H1(0, 1)×H1(0, 1)& /�������	� U �� �����
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U .
= H1(0, T : H2(0, 1) × H2(0, 1))

- 
�)�
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BU(t) = B
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f
g

)
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1
ρ
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1
Cv
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⎠ =

⎛
⎝0 0

1
ρ
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0 1
Cv

⎞
⎠(

f(t)
g(t)

)
, t ∈ [0, T ].
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{
0.1 x �
 0 ≤ x ≤ 0.5

0.1 (1 − x) �
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�)�
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)2
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> > > > > > >
1 6&:7>81 1>&919> 6&:7>81 21&6:�217 1&>:�217 4&>5�217
4 6&5:564 11&><48 7&14>74 2:&9616: 25&18848 211&954<>
6 6&57:6: 11&6>58 7&>>515 2:&5<771 2:&145>8 2<&<:447
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dz(t)

dt
= Az(t) + F (q, t, z(t)), t ∈ (0, T )

z(0) = z0.
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